H & 0l & AHS B Ml A

AR 2EPZHY= 2N 250D
H: 2S0ETAIXY 2 =4
el SAZMAY 229G (St &)
&l £ X 2 (3 =] MEc -
A 2A - B . H2A(FH) - HIRAY - BES Oil \HoH Oll ~Fon Hus2t
et &= 119,711,829 116,972,993 2,738,836
= 3,945,671
z 17,065,383
p) 5,183,745
[ 17,521,307
Al 75,995,723
250 = 15,165,437 15,653,539 A488,102
FE; 2,687,500
7l 1,203,140
[ 1,665, 160
Al 9,609,637
2 TAIEE L 24 12,100,077 12,564,999 AAB4,922
z 1,187,500
7l 1,203,140
[ 1,215,160
Al 8,494,277
SEHHUAIY 29 6,598, 129 5,792,344 805,785
FE; 357,500
7l 1,203, 140
[ 330, 150
Al 4,707,339
()2=2smet 2 3,964,979 3,889,884 75,095
306 =42 3,964,979 3,889,884 75,095
01 2013 3,964,979 3,889,884 75,09%
O23HHE AIR2 29
2,145,979,0002 *100% 2,145,979
OYF0=0tY S 29
240,000, 0002 * 100% 240,000
OX2ZAHE-C 2 29
108,000, 0002 * 100% 108,000
OUYME25LMIE S 2
72,000,000 *100% 72,000
OYZ= A2 Qe 2%
19,000, 0002 *100% 19,000
OB R=ALSUEH AL 2
350,000, 0002 * 100% 350,000
O2EAHL=H 800,000, 0002 * 100% 800,000
OF20 A XA
210,000, 0002 * 100% 210,000
OXHAMNY 2% 20,000, 0002 *100% 20,000
UM S2SHHIE A5 8,100 9,720 A1,620
[ 2,430
Al 5,670
308 XXISHHISO0IA 8,100 0 8,100
[ 2,430
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A= SN L= 2AM : stz
ZH: SHYSTATS L =4
ol SEBAY 29 (SH9 H2)
AT SA - FE . B(BH) - HEAY - B ofl vy aET HD=2
a=-FM-3%-8 o 8= = ofl &b s2
HE MO SAAIS 90,000 100,000 A 10,000
& 27,000
Al 63,000
307 21Z2H0| & 90,000 100,000 A 10,000
& 27,000
Al 63,000
04 QI2ISHALAIE B X 90,000 100,000 A 10,000
OHz Mois dA
90,000,000 *100% 90,000
< 27,000
Al 63,000
SAIRs AR Y Y SAH(ZHEZAI) 365,000 0 355,000
rag 177,500
< 88,750
Al 88,750
308 AXIHHMSOIA 355,000 0 355,000
= 177,500
= 88,750
Al 88,750
13 SI2ZSHUSHE A NS AIEHI 355,000 0 355,000
OSASs FBAE HL L 29
355,000, 000& *100% 355,000
= 177,500
& 88,750
Al 83,750
SoAZ X HZ(ZZHE Al 100,000 0 100,000
= 50,000
& 25,000
Al 25,000
308 AXIHHSOIA 100,000 0 100,000
g 50,000
& 25,000
Al 25,000
13 S| 2SS EAERAEAIS LI 100,000 0 100,000
O XN HI& 100,000, 000& *100% 100,000
g 50,000
= 25,000
Al 25,000
SHEIEX AZLAE P (AZHE A 100,000 0 100,000
ray 50,000
= 25,000
Al 25,000
308 XAXIHHSOIA 100,000 0 100,000




A= F3t2roid= 2AM 1 230l=n
ZH: SHYSTATS L =4
ol SEBAY 29 (SH9 H2)
A2 R4 BB O9(B) - IRAY - BAS Ofl b Ce = DS
SE M - == = Ofl ko =
s 50,000
= 25,000
Al 25,000
13 BI 12 S0ICHEHE A X LAE AL 100,000 0 100,000
OZZIBHI=X ZAZAE Y
100,000,000 *100% 100,000
s 50,000
= 25,000
Al 25,000
28 22 ZC AR I (ZAZHEZAI) 160,000 0 160,000
s 80,000
& 40,000
Al 40,000
308 AXISHMSOIA 160,000 0 160,000
s 80,000
& 40,000
Al 40,000
13 SI |2 SOICHEH B & XL E AL 160,000 0 160,000
OZE 2HZE A4 e
160,000,000 *100% 160,000
s 80,000
& 40,000
Al 40,000
g=2 2ZXA 3,000 3,000 0
201 Ler2 | 3,000 3,000
02 3244l 3,000 3,000
OAIE &Y= XY 3,000,000 14 3,000
ZoEM 2H 10,950 13,800 A2,850
202 04d| 3,750 4,800 A1,050
01 =W OdbI 3,750 4,800 21,050
O=F}Ed 20|
25,0003 x6H 253 3,750
203 PYRF=&H| 7,200 9,000 21,800
03 A FRIHRFAIH| 7,200 9,000 A1,800
OIS USAIHMFER(ZE)
4,800,000 14 4,800
(O] ENEE=S] 2,400,000 14 2,400
Zal=gs X 2,362,114 2,005,155 296,959
= 416,010
Al 1,946,104
=& . B3olll=8s 24 2,000 2,000 0
301 L2 Z 2,000 2,000
11 HARHIXIE S 2,000 2,000




AR 2RYHYR SN 2s0lEt
M 2I0=TAIESE 2 g4
o 23tizEs XA (St &)
AT SA - FE . B(BH) - HEAY - B ofl vy aET HD=2
a=-FM-3%-8 o 8= = ofl &b s2
OOIZ=20F #A 2I124
100, 000& *20H 2,000
G ESSERE N 241,103 299,403 58,300
201 LBt AH| 20,000 87,000 67,000
03 A2 HH| 20,000 80,000 260,000
Oll=&gAl 2 20,000,000 & = 1A 20,000
307 2IZ2H0| & 221,103 207,403 13,700
03 QIZIHHHE2HHIE X 221,103 207,403 13,700
OZENE 2gH| 185, 103, 0002 *100% 185,103
OZEDINE 29| 36,000,000& *100% 36,000
NSt =Sk 30,000 25,000 5,000
307 21Z2H0| & 30,000 25,000 5,000
04 QIZISHAIAIR 2 R 30,000 25,000 5,000
NS EEEE
30,000,000 *100% 30,000
2SHIsta 22|29 74,244 45,672 28,572
101 2121b| 3,144 3,072 72
04 JItHI22sES 3,144 3,072 72
Ossz =H #A™Y o9
104,800& *3H 10! 3,144
201 LBt AH| 21,100 24,600 3,500
01 AFR22t2ldl 6,700 7,200 A500
OEEE HE(Y0 28
2,000,000& *1A 2,000
OJ|Et2gH| 1,000,000 14! 1,000
OAREE ¢ 500,000 =14 500
Ogt=2&24E8 3| HA3H|
200,000 18] 200
OR0o1HHIAIE=Z 250,000+ 12& 3,000
02 Bs249H| 14,400 17,400 A3,000
O=tEINNREE=2 50,000& *23| 100
Orsplier=; 500,000 128 6,000
OHstEEAIES 50,000 x12& 600
OPCIFHY 3| Y SAZ
200,000+ 12& 2,400
O+ HE 300,000&*13] 300
OAIEEH|RXIB] 5,000,000 14! 5,000
307 21Z2t0| ™ 20,000 18,000 2,000
02 QIZHBAMAIRE X 20,000 18,000 2,000
o2&t 29 Tz X3
10,000,000 *2&| *100% 20,000
405 KHSSHI 30,000 30,000
01 IIMEZ2EFSH| 30,000 30,000
Ollx =8z F2¢ 20,000,000 1 20,000




Fat2toi = 2AM 1 230l=n
SoU=AIEE & 4
Estolzgs N ol &)
224 ZH . O9l(B) - MIRAY - BES A HIm=S2t
| oag 2 10,000,000 14} 10,000
s A2 ZeEHAL 16,000 20,300 24,300
307 QI2Hol M 16,000 20,300 24,300
04 QIZHHAIAIE E X 16,000 20,300 24,300
Ost=AMI0ILE & st=at
16,000, 000& *100% 16,000
2A=% =N 10,000 0 10,000
307 QIZt01 A 10,000 10,000
04 QIZIHAIAIE E X 10,000 10,000
OLSZ ZeEd 10,000, 000& *100% 10,000
Zoll=usSAIE 29 121,000 175,000 A54,000
307 212+01 A 121,000 175,000 254,000
02 QIZtAAAIEER 121,000 175,000 A54,000
O89 2AHAER
80,000, 000& *100% 80,000
Oll=zssin 29 21,000,000 *100% 21,000
OysEYLER e
20,000,000 *100% 20,000
CIFM==N 20,000 20,000 0
307 212+01 A 20,000 20,000
04 QUZHHAIAIE E X 20,000 20,000
Oel=t=sd 20,000,000 *100% 20,000
280l =N 30,000 30,000 0
307 QI2Hol ™ 30,000 30,000
04 QIZISHAAIZ E X 30,000 30,000
OLSEX0I=H 30,000,000 *100% 30,000
S20I$ =Xt 50,000 0 50,000
= 15,000
Al 35,000
307 2I2+01A 50,000 0 50,000
& 15,000
Al 35,000
04 QUZHHAIAIE E X 50,000 0 50,000
O320l4=Atel 50,000,000 *100% 50,000
& 15,000
Al 35,000
LEH==H 70,000 70,000 0
307 2I2+0l™ 70,000 70,000
04 QIZHSHAAIES E X 70,000 70,000
OZS0==sd 70,000,000 *100% 70,000
2S0=2A 8,000 10,000 A2,000
307 2I2+01A 8,000 10,000 A2,000
04 CIZISHAIAIRIE & 8,000 10,000 A2,000




a2 sy 2A 280D
Hu: 2BUSEAZY L 84
o 23tizEs XA (St &)
42 RA - ZB . G9(3D) - HRAY - BYS Ol &t A B2
| Ozsazo 8,000,000 100k 8,000
YEIRHAHNSET 200,000 00,000 100,000
= 60,000
Al 140,000
307 Q12H0| A 200,000 100,000 100,000
= 60,000
Al 140,000
04 QIIBAPARRI I E 200,000 100,000 100,000
OYESIMELHHSEH
200,000, 0002 * 100% 200,000
= 60,000
Al 140,000
XD Y 200,000 0 200,000
= 60,000
Al 140,000
307 Q12H0|H 200,000 0 200,000
= 60,000
Al 140,000
04 QIIBAPAFRI I E 200,000 0 200,000
O==zol 3id 200,000, 0002 * 100% 200,000
= 60,000
Al 140,000
ASAEDIRT 30,000 30,000 0
307 Q12H0|H 30,000 30,000
WSEOVSEES 30,000 30,000
OLEARIIRH 30,000, 0002+ 100% 30,000
ZATNE 60,000 0 60,000
= 18,000
Al 42,000
307 Q12H0| A 60,000 0 60,000
= 18,000
Al 42,000
04 QIIBAAIRIEE 60,000 0 60,000
OBAZNE 60,000, 0002 *100% 60,000
= 18,000
Al 42,000
OLEHOf 20,000 30,000 10,000
307 Q12H0|H 20,000 30,000 10,000
WSERVSEES 20,000 30,000 A10,000
OOtEA=2 20,000, 000&!*100% 20,000
AS 0127} SEH 5,000 5,000 0
307 212H0| M 5,000 5,000
04 QIIBAPAFRI I E 5,000 5,000
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=Stz L= 2AM : stz
SI0sEAIERE L Y
Fati=gs N (CH9: &S1)
2. 2A - B O9(3) - HRAY - BaS A HDS2
AELSS=o 2 30,000 0 30,000
= 9,000
Al 21,000
307 2I2t01 ™ 30,000 0 30,000
& 9,000
Al 21,000
02 QI2+EAA 30,000 0 30,000
OLEEE
30,000,000 *100% 30,000
o= 9,000
Al 21,000
A 2stofl=ol XA 180,000 350,000 170,000
307 2I2t01 ™ 180,000 0 180,000
2 QI2ZHEAMAEER 180,000 0 180,000
ONZ0= XN3AAS 100,000, 000& *100% 100,000
O2I1RE H=LE 80,000,000 *100% 80,000
ot ZHESs 14,000 30,000 16,000
307 QI2t01 ™ 14,000 30,000 /16,000
04 OI2SHA} 14,000 30,000 /16,000
oot 3AH 14,000,000 *100% 14,000
Pl 23 26,667 20,400 6,267
= 8,000
Al 18,667
307 2I2t01 ™ 26,667 20,400 6,267
= 8,000
Al 18,667
04 QIZHSHAL 26,667 20,400 6,267
OFOPIt= 26,667,000 *100% 26,667
& 8,000
Al 18,667
=4 MAIS) 40,000 0 40,000
= 12,000
Al 28,000
307 2I2t01 ™ 40,000 0 40,000
L= 12,000
Al 28,000
04 OIZISHAIAIR B & 40,000 0 40,000
Ox=H&HAI 40,000,000 *100% 40,000
& 12,000
Al 28,000
HaBE o= 40,000 0 40,000
o= 12,000
Al 28,000




A= 2st2rdof = M Zstilst
FH: 2= AEE L |4
el Etoizgs N (St &)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SmoETAreER e T == B Ol &0 ==
307 212t01& 40,000 0 40,000
S 12,000
Al 28,000
04 CIZFHAIAIE E & 40,000 0 40,000
Oger3d s &tots =M
40,000,000 *100% 40,000
= 12,000
Al 28,000
M0z KIRAS (HEALY) 140,000 140,000 0
L= 70,000
Al 70,000
307 212t01 & 140,000 140,000 0
< 70,000
Al 70,000
02 QIZHAAAHE L 140,000 140,000 0
Ol XIZAMS 140,000, 000& *100% 140,000
S 70,000
Al 70,000
SEEME 14,000 20,000 26,000
307 212t01& 14,000 20,000 26,000
04 QIZFHAIAIE E X 14,000 20,000 26,000
OsE2ME 14,000, 0002 *100% 14,000
s L2leld 40,000 20,000 20,000
= 12,000
Al 28,000
307 212t01 & 40,000 20,000 20,000
S 12,000
Al 28,000
04 QIZISHATAIE 2 & 40,000 20,000 20,000
o= Eleld 40,000,000 *100% 40,000
= 12,000
Al 28,000
Lol &ota 40,000 50,000 /10,000
307 gIztold 40,000 50,000 210,000
04 QIZIHAIAIE E X 40,000 50,000 210,000
Ol &Itat 40,000, 000& *100% 40,000
SHNSEHAEE 66,700 0 66,700
S 20,010
Al 46,690
307 212t01 & 66,700 0 66,700
= 20,010
Al 46,690
04 QIZIHAIAIE E X 66,700 0 66,700




A= Bt = 2M 230
HH: RollsSAXE 2 |4
tel: Sti=gs X (St &)
A= 2A - 3. SR(3) - MIRAY - BES Off &K %E% HusZ
O=MSEHAEIEH 66,700,000& *100% 66,700
= 20,010
Al 46,690
et 2 EdaE S23 20,000 20,000
S 6,000
Al 14,000
307 212+01& 20,000 20,000
= 6,000
Al 14,000
04 DIZFHAIAII B X 20,000 20,000
OEtd g2 EaE 523
20,000,000& *100% 20,000
= 6,000
Al 14,000
ZEAHAHD SHots SAHY 30,000 30,000
= 9,000
Al 21,000
307 212+01& 30,000 30,000
S 9,000
Al 21,000
04 QIZFHAFAIRI B X 30,000 30,000
OZEAH A SHGHE SHOH
,000, 0002 *100% 30,000
= 9,000
Al 21,000
2E WLE3H A2 20,000 20,000
= 6,000
Al 14,000
307 212+01™ 20,000 20,000
S 6,000
Al 14,000
04 QIZFHAIAIE B = 20,000 20,000
OLE =23t AlRIZE
20,000,000 *100% 20,000
= 6,000
Al 14,000
5= S0 2ES L= B €0,000 60,000
= 18,000
Al 42,000
307 212+01™ 60,000 60,000
S 18,000
Al 42,000
04 QIZFHAIAIE B = 60,000 60,000




A= Bt = 2M 230
HH: RollsSAXE 2 |4
tel: Sti=gs X (St &)
A= 2A - 3. SR(3) - MIRAY - BES Off &K %E% HusZ
OF= otd0| 2 Y= &
60,000,000 *100% 60,000
== 18,000
Al 42,000
L8 AECIE2E a4 QE= 60,000 60,000
S 18,000
Al 42,000
307 gIztol 60,000 60,000
(= 18,000
Al 42,000
04 QIZISHAIAIH B 60,000 60,000
OLE AEL|EE &4 01532
60,000,000 *100% 60,000
== 18,000
Al 42,000
MAE Jis S8 ZAHME 50,000 50,000
S 15,000
Al 35,000
307 gIztol ™ 50,000 50,000
(= 15,000
Al 35,000
04 QIZFSHAIAIH B X 50,000 50,000
OMAZE 5288 ZNE
50,000,000 *100% 50,000
== 15,000
Al 35,000
01019t A= €= =01 40,000 40,000
S 12,000
Al 28,000
307 212+01& 40,000 40,000
= 12,000
Al 28,000
04 QIRFHAIAIH 2 = 40,000 40,000
OO0I0FIIDt A= IE= =0I1H
40,000,000 *100% 40,000
= 12,000
Al 28,000
28 MERSAAXF EHEFIAIY €0,000 60,000
S 18,000
Al 42,000
307 212+01& 60,000 60,000
S 18,000
Al 42,000
04 QIZHFHAIAIH 2 = 60,000 60,000




St Y= 2A  230is
Stz Alxd ¥ FH
23 =gs N ol &)
2 RA - BB O9(E0) - HRAY - BAS of v G o HIDE2
OLE HE22AFAK T 23t
60,000, 0002 *100% 60,000
= 18,000
Al 42,000
Sz s 2 3,000 3,680 2680
202 04| 3,000 3,680 2680
01 2K 3,000 3,680 A680
O=2ztlegsid 2834l
25,0003 x4 »302] 3,000
ZrAES X2 710,734 740,500 N29,766
= 30,000
== 27,000
Al 653,734
sUAT O1A H2ZA 260,620 207,400 53,220
201 2= 180,000 90,300 89,700
01 At22telt] 80,000 50,300 29,700
O2gs
100,000 x 1073 7,000
OXNEZ2& X 300,000 x22 +83] 4,800
OFYCA & & WEHAE
200,000 x5 *172] 17,000
OF2AZAl AR EH3|
1,500,000& 22 3,000
o183, 822 N
15,000,000 * 14 15,000
O28= NH 10,000, 000& x23] 20,000
OEHoIk 2¢, 2¢l
1,100,000& «12& 13,200
03 Ar=EHI 100,000 40,000 60,000
OF2ZAl A JHA
40,000,000 *14] 40,000
OFLZAl AIBIEE 20,000,000 *14] 20,000
ogztus & Fxas K
10,000,000 »23] 20,000
OF2bIAa & 20,000,000 * 14| 20,000
202 04l 28,620 26,600 2,020
01 =LHAHI 4,620 6,600 1,980
O=U A=Al 1 SHALE A
140,0002 38 *113] 4,620
03 =2AF R0l 24,000 20,000 4,000
O=2 34 3AFA L 3lE= UR
3,000,000 x4 & »23] 24,000
207 ARl 30,000 69,000 39,000
01 H1ESHI 30,000 69,000 39,000




A= Eot2Eoie= M Zstilst
M 2= AEd & |4
¢l Eahrgas XA (SH &)
4224 BH. OS(SH) - SN - BaS of e Bl DS
oI HE =8 89
30,000,000 x14! 30,000
301 LeEN= 15,000 21,500 26,500
08 E12tI=2| (4| 8,000 8,000 0
O=2 &4 312 34 & 3&= WF
4,000,000 »1H+23] 8,000
09 ABI=HNHI 7,000 10,500 23,500
Ol ZH2AZAl AT =Y
3,500,000& 2 *12] 7,000
308 XXM SOIA 7,000 7,000
18 S| 2SS & HAEAIE 7,000 7,000
OFAZAl HEES 3,500,000 *22 7,000
ey 2el 18,830 12,000 6,830
201 L= 17,580 11,000 6,580
01 AFS2t2ltl 17,580 11,000 6,580
OY=AHYI =H L 28t
1,200,000& 102 12,000
ORSY w=s WM M
1,000,000 #22] 2,000
ORsgY W=s &Al 3,580,000& %12 3,580
202 04l 1,250 1,000 250
01 =LA LI 1,250 1,000 250
ORed Nk &= 2K
25,0003 2 #2528 1,250
LESEUW==3E g X 60,000 0 60,000
307 212t01™ 60,000 60,000
02 QI AN 2 X 60,000 60,000
020248 ZE=E==38 &g X
60,000,000 *100% 60,000
HOZSEAl SH(2ZAHAETAI) 60,000 40,000 20,000
Fas 30,000
= 15,000
Al 15,000
207 AN 60,000 40,000 20,000
= 30,000
< 15,000
Al 15,000
01 g EAH| 60,000 40,000 20,000
OAIBI Zol0l4!l o201 & X92d &=
2ot P EA 40,000,000 *14] 40,000
= 20,000
< 10,000
Al 10,000
OFAZAl BHH =4 2 M+ A
- 29 20,000,000 x14! 20,000




St Y= A - 23
SHUEEAES L 54
S Es X3 Crol A Q)
2 RA - BB O9(E0) - HRAY - BAS of v G o HIDE2
= 10,000
=S 5,000
Al 5,000
SU=SEIGSN 120,000 150,000 /30,000
307 212+01& 120,000 150,000 /30,000
04 QIZHHAIAIRH 2 X 120,000 150,000 /30,000
ON262l 358 SIS
120,000,000 121 *100% 120,000
RSB NI XA eAZ=0H3] izl X2 40,000 0 40,000
= 12,000
Al 28,000
307 @120l & 40,000 0 40,000
=S 12,000
Al 28,000
04 QIZHHAMAIH 2 £ 40,000 0 40,000
020243 N2zl HASEXXIEXIAE Ot0H==
O eAZ=C{2] JHEl X2
40,000,000 *100% 40,000
[ 12,000
Al 28,000
48 =28 F&HA £d 151,284 151,284
201 Ler23| 41,284 41,284
01 At2teltl 27,604 27,604
O&=Jlgxtz 60,0002 *3CH* 12 2,160
ONMAISI Xz 57,0003 * 128 684
OFAZSAHI 1,100,000& «12& 13,200
ORBHIESY === 110,000& ~12& 1,320
OnAHAUY SX= 330,000 * 122 3,960
OdINTESE 7Y 200,000 42 800
OAIREID| A28 ¥
40,0003 * 122 480
Odatx & s RA&cl S
5,000,000 14 5,000
2 s5=34l 13,680 0 13,680
OdIIR3 1,000,000& 122 12,000
Odotre=s 40,0002 122 480
(@=F1= 100,000« 12& 1,200
7 Q1240 110,000 110,000
2 2B AAHE XL 110,000 110,000
2004 25 SEE}E[L 2Y
110,000, 0002 *100% 110,000
HxAY 29 2,429,100 3,967,000 21,537,900
[ 800,000
= 442,000




A= Est2Eoie= 2A  230is
M 2= ANEE 2 |84
el 2A2HIZAY 23S (SH9 H2)
42 RA - ZB . G9(3D) - HRAY - BYS Ol &t A HlmE2
Al 1,187,100
NgLE2eHE Ages X2 646,600 597,000 49,600
307 2I2+01H 616,600 567,000 49,600
02 QBN E R 101,600 102,000 2400
OXd2Zstad = A2AY
25,600, 0002 *100% 25,600
OLEEAs LA
56,000, 0002 *100% 56,000
OLE2eHA M 704 JIEAL
20,000, 0002 «100% 20,000
03 QIZEHHEE2EHIEx 515,000 485,000 50,000
OZE=2s 29 460,000, 0002 *100% 460,000
OUHOIEHE 2 55,000, 0002 *100% 55,000
402 RIR”FXH=Z0I1 A 30,000 30,000
01 QIZEXHE2 AL 2 (REHITH ) 30,000 30,000
OLEZsHE M A8 22+
30,000, 0002 «100% 30,000
Ag=23td Aty 28 N 20,000 20,000 0
< 6,000
Al 14,000
307 2I2+01H 20,000 20,000 0
< 6,000
Al 14,000
02 B HAHE 20,000 20,000 0
OXg=2=ta Alde 2 XIH
20,000,000 +100% 20,000
< 6,000
Al 14,000
S =H 120,000 0 120,000
< 36,000
Al 84,000
307 212+0I1& 120,000 0 120,000
< 36,000
Al 84,000
04 QIZSHAAIH B X 120,000 0 120,000
Og=olg=ul 120,000,000 *100% 120,000
< 36,000
Al 84,000
FEUY B SAH(AZHEZA) 1,600,000 2,500,000 900,000
fas 800,000
< 400,000
Al 400,000
307 e12+0ld 1,600,000 2,500,000 900,000
= 800,000




St Y= 2A  230is
SHUEEAES L 54
I 2EEAY 29 (SH &)
2 RA - BB O9(E0) - HRAY - BAS of v G o HIDE2
< 400,000
Al 400,000
02 DIRIHA AR BT 1,600,000 2,500,000 A900,000
OF=Bot 2Ex A
1,200,000,000& » 14 1,200,000
= 600,000
< 300,000
Al 300,000
OBZTHON s L2 18 29
400,000,000 * 14 400,000
= 200,000
& 100,000
Al 100,000
L8 AclADA HASEH 40,000 0 40,000
307 el2tol & 40,000 0 40,000
04 QIZIHAIALE 2 & 40,000 0 40,000
O2E FelADA HSEA
40,000,000 *100% 40,000
S32H=AIY 233 2,500 0 2,500
202 04| 2,500 0 2,500
01 =LHOLI 2,500 0 2,500
O=32E= 20|
25,0003 »2&+502] 2,500
PR S| 2t&)|ptets 3,016,600 3,025,800 29,200
[ 1,500,000
= 450,000
Al 1,066,600
EtTAl 2HS0) 3,016,600 3,025,800 29,200
[ 1,500,000
= 450,000
Al 1,066,600
st 2g2k 16,600 25,800 29,200
201 Ler23| 12,600 18,800 26,200
01 At2teltl 12,600 18,800 26,200
OSSTAIFLREE FH=F
70,0002 152 +83] 8,400
OS2tz A=A 2EH
100,000& » 122 1,200
O2E2= & NE M 1,500,000& 22 3,000
202 04| 2,500 4,000 21,500
01 =LHA LI 2,500 4,000 1,500
OS2tz AIZEYR 04|
25,0003 x2& »503] 2,500
301 EtE NS 1,500 3,000 1,500




St Y= M 230=1
SoHRS 2| eHEE
SEAl 2HSD) (Gt H2)
2 RA - BB O9(E0) - HRAY - BAS of v G o HIDE2
11 dALEEIXIZE S 1,500 3,000 1,500
O AIFREE S0
100,0002 x 15 *13] 1,500
St Al &4 3,000,000 3,000,000 0
[ 1,500,000
= 450,000
Al 1,050,000
308 AXIHSOIA 3,000,000 2,500,000 500,000
= 1,500,000
< 450,000
Al 1,050,000
18 SIS0t A 2 2| 3,000,000 2,500,000 500,000
OS2t Al ZEA AAETAIEH]
3,000,000,000& *100% 3,000,000
= 1,500,000
[ 450,000
1,050,000
dY2IZHI(2at0=) 48,760 62,740 13,980
Jl=2dsl 48,760 62,740 13,980
JI23Hl 48,760 62,740 /13,980
201 fer=3| 30,080 40,620 10,540
01 At 22|l 30,080 40,620 210,540
Oget=EH| 20,000
cHIARESH| 10,000,000 * 14| 10,000
oHFEH| +=clH 3,000,000 *14! 3,000
oJ|E LSt 4,000,000 *14] 4,000
oE TATY 300,000 *23] 600
oSBT M2 =8
20,0002 105+ 128 2,400
O=gl 10,080
oJ|2 R A
8,000 »14& +902 10,080
202 04| 10,080 11,520 1,440
01 =LHOLI 10,080 11,520 21,440
OJlzgf==d 0|
90,0002 * 14«82 10,080
203 HR=H] 8,600 10,600 22,000
01 D[22 HRF2a| 5,600 7,000 1,400
OJ|2zgge=a 5,600,000 *14] 5,600
MU FAZSLIFAI 3,000 3,600 A600
OFAMEgERR 250,000 * 122 3,000




H & 0l & AHS B Ml A

=Stz L= 2N 1 23R4t
Sslga HuaE U K
23R A A FEZ (SH &)
224 Y. B (3H) - ASAY - BaS 0l &y G o HIRS2
At 15,377,754 16,783,745 1,405,991
= 2,973,110
= 120,000
J| 385,642
= 2,906,733
Al 8,992,269
Steat A 2 XA 1,943,267 1,422,200 521,067
= 310,000
== 399,000
Al 1,234,267
2ot o AIMZ=X 1,355,400 907,200 448,200
= 310,000
= 232,000
Al 813,400
IR AIBFR 29 11,600 37,000 A25,400
201 LEt2HH 10,000 16,000 6,000
01 AH22eld 10,000 16,000 6,000
O=stee =222 N
10,000,000 * 14! 10,000
203 R =&IH| 1,600 2,000 2400
03 A=A 1,600 2,000 A400
OI23IR 4t
1,600,000 * 14 1,600
LEAl AIAFEHE 23,000 23,000
201 Et249H 18,000 18,000
01 AtR2teld 18,000 18,000
ORIa3 = 100,000& *15H *63| 9,000
150,000& 10 63| 9,000
301 BB Z 5,000 5,000
14 J|IEtE A3 5,000 5,000
OAIAHHZE H2A 5
5,000,000& 14! 5,000
SEZSIRM S EsH 230,800 382,200 A 151,400
201 LEt2AYH| 28,400 32,200 A\3,800
01 A22teld| 28,400 32,200 A3,800
OHEZSRL 28 L X2
5,000,000 * 14| 5,000
ORId3 &Y 100,000& *7 H+63| 4,200
OXZ/d M=z
160,000 *15H +83| 19,200
202 O4d| 2,400 2,400
01 ZLHHI 2,400 2,400




=Stz L= 2N . 23R
2594 BHLY U X8
23R A A FEZ (SH &)
2. 24 BB . O (30) - NIRAY - BYS A e
OSEZSRA =2 2HZH|
20,0002 x3H *403] 2,400
401 A HIZL 2 04| 200,000 300,000 100,000
01 Al&HI 200,000 300,000 100,000
OHEZSRA 5 B2
200,000,000 * 14 200,000
AN SR FE EZ A A 620,000 0 620,000
= 310,000
= 93,000
Al 217,000
207 AFIHEH| 620,000 0 620,000
= 310,000
& 93,000
Al 217,000
01 HAESY| 620,000 0 620,000
OYGAN2H S22 S8 L2 A AIY
620,000,000 *100% 620,000
= 310,000
& 93,000
Al 217,000
JdZ s =H 290,000 0 290,000
T 87,000
Al 203,000
307 S1Zto| ™ 290,000 0 290,000
= 87,000
Al 203,000
04 QI2FSHAAI X 290,000 0 290,000
OHNMi2gl 3% S =K 290,000,000 *100% 290,000
== 87,000
Al 203,000
=2 sSUH X3 120,000 100,000 20,000
& 30,000
Al 90,000
307 QIZ2t0IA 120,000 100,000 20,000
T 30,000
Al 90,000
04 QIZFSHAIAIE 2 X 120,000 100,000 20,000
Og=xzg skl
100,000, 000& *100% 100,000
== 30,000
Al 70,000
OYx=zg SEUM SAXIA(AIBIZEI
20,000,000 *100% 20,000
SO X - St A 20,000 0 20,000




A= 2st2rdof = A 1 SatRet
IH: 2396 FULY U NS
&2l E2atsa AIREX (CH9: &S1)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e
& 10,000
Al 10,000
307 QI2HO| A 20,000 0 20,000
& 10,000
Al 10,000
04 QIZHHAIAIRIE & 20,000 0 20,000
OS2 A - 2=t AL
20,000, 0002 *100% 20,000
= 10,000
Al 10,000
A2t DT L Xl g2 40,000 0 40,000
T 12,000
Al 28,000
207 AR 40,000 0 40,000
& 12,000
Al 28,000
01 ¢ EH| 40,000 0 40,000
OLEXNS L8 I3 RAL- AR
40,000, 000& *100% 40,000
& 12,000
Al 28,000
23 - A8 g A 587,867 515,000 72,867
T 167,000
Al 420,867
SIEMNFA olAH| XA 16,000 16,000 0
307 QI2HOl A 16,000 16,000
03 QIRIEHXHE2HHIB X 16,000 16,000
OSZMLSH 212H| X2
1,000,000 *4 % *43|+100% 16,000
SZEMNSR AHN2IAHY 80,000 28,000 52,000
= 24,000
Al 56,000
307 gIzHol ™ 80,000 28,000 52,000
= 24,000
Al 56,000
02 QIRHEAAIHEE X 80,000 28,000 52,000
OSZTUNS LHSAAY
80,000,000& *100% 80,000
& 24,000
Al 56,000
E30/01HFALS 266,667 300,000 233,333
& 80,000
Al 186,667
307 gI2Hol 266,667 300,000 A33,333




a3 FghBHL= 2N Estsart
M FotRs By 2 XS
e s R e I EER=E)
A2 RA - F- . O9(3H) - ARAY - BAS O &kt A Hms2
= 80,000
Al 186,667
02 QI AN X 266,667 300,000 /33,333
O8=30I0 AFALA 266,667,000 *100% 266,667
e 80,000
Al 186,667
ZAIS d2A(HEE =Hl) 15,200 19,000 23,800
307 @I2t01 & 15,200 19,000 3,800
04 QIZFSHAIAIE B & 15,200 19,000 /3,800
Oogg sMEEXE ¢ 3¢) XA
15,200,000 * 14! 15,200
SIS Z 35N 45,000 50,000 5,000
[ 13,500
Al 31,500
307 @I2to| ™ 45,000 50,000 5,000
< 13,500
Al 31,500
04 QIFEHAIAIE 2 & 45,000 50,000 25,000
O3l &S 235N 45,000,000 *100% 45,000
< 13,500
Al 31,500
SIaE3HAl 45,000 60,000 A 15,000
= 13,500
Al 31,500
307 @I2tol ™ 45,000 60,000 15,000
< 13,500
Al 31,500
04 QIFEHATAIRE B & 45,000 60,000 A 15,000
Odl@ ZaHAl 45,000,000 *100% 45,000
< 13,500
Al 31,500
SILHEE ML ALY 120,000 0 120,000
< 36,000
Al 84,000
307 @lztol ™ 120,000 0 120,000
= 36,000
Al 84,000
02 QI AANE 2R 120,000 0 120,000
OBt &8 L2 ALY
120,000, 0002 *100% 120,000
< 36,000
Al 84,000
HSE3 FUEE 2,565,460 6,194,640 13,629,180




A 2sRYHYR SRR =Y
M MES3 AL
o 23RAMEE 243 EEREE)
4224 - B B9IEH) - AIRAY - B of v G o HIDE2
= 402,100
=S 515,270
Al 1,648,090
S22 WFKE 315,800 242,000 73,800
== 64,000
Al 251,800
AEE SHHSEE 155,800 192,000 A36,200
307 212+01& 123,800 176,000 A52,200
02 2B HAHE L 20,800 44,000 23,200
OZEHERA dSuZus N
4,000,000& *100% 4,000
Odzudt=rral 78 AHuUsAY
,000, 0002 *100% 8,000
O8d2a3dRTs JHREA &2
8,800,000 *100% 8,800
04 QIZHHAMAIRH 2 X 103,000 132,000 A29,000
OLEe HAH SAKE
96,000, 0002 *100% 96,000
OZ8&u J2H A
5,000, 0002 *100% 5,000
oodz 18 & U=t dS&Ed XE
2,000,000 *100% 2,000
402 QI>F X201 & 32,000 16,000 16,000
01 QIZEXHZ2 AL 2 (REHITH ) 32,000 16,000 16,000
OHNlellzst =3t XA
30,000, 0002 *100% 30,000
O=strat 333HIE 3d/7Y
2,000,000 *100% 2,000
SRUFE WS ME 2E 80,000 0 80,000
< 24,000
Al 56,000
307 elztol & 80,000 0 80,000
= 24,000
Al 56,000
02 2B HAIHE & 80,000 0 80,000
OFausE WUSAME 29
80,000,000& *100% 80,000
S 24,000
Al 56,000
SEAA 40054 JISA 80,000 0 80,000
[ 40,000
Al 40,000
307 glztol & 80,000 0 80,000
= 40,000
Al 40,000
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=ot2tZol 2= 2N 1 2etsatt
NERS ROtEE
ZoRE AIE2Y (SH &)
2. 94 B O (3) - ARAY - BYS A TimE==
OJ|ga edst T2 29
400,000 x2 A x12& 9,600
401 AlEHIZLS0HYI 75,000 75,000
01 Al&HI 75,000 75,000
Ods2t & D182
15,000,000 & *5I1 &~ 75,000
oldciHEs JIgsR 2229 70,000 3,525,000 3,455,000
401 Al HIL £ 0HY| 70,000 3,525,000 A\3,455,000
01 Al&HI 70,000 3,525,000 A3,455,000
O3 SX2el At 20,000,000 14! 20,000
Odl=dltEs Jl1gs 2 BsAIY
50,000,000 14! 50,000
=3t=0F SIERIN &5 29 3,500 5,000 21,500
202 04t 3,500 5,000 21,500
01 =LHo1H| 3,500 5,000 A1,500
OS3H20t SI=9I0] 25 27y
20,0002 x5Z *353] 3,500
ZoRAEE 2435 1,973,000 2,018,500 245,500
= 402,100
T 451,270
Al 1,119,630
MAH (2334 OICIHOIE AFH (2012 EXIR) 720,000 1,740,000 A 1,020,000
= 216,000
Al 504,000
307 QIZ2tOI M 720,000 1,740,000 A 1,020,000
== 216,000
Al 504,000
02 CIZHEAAMHE R 720,000 1,740,000 A 1,020,000
OLEUHE=SEH0t &b DICICIOLE
720,000, 000& *100% 720,000
& 216,000
Al 504,000
=32 A OFs AL 782,500 0 782,500
= 313,000
& 140,850
Al 328,650
307 CIZ2tOI A 782,500 0 782,500
= 313,000
& 140,850
Al 328,650
02 QIZHEAAHE R 782,500 0 782,500
OLE 23t OFt 782,500, 000& *100% 782,500
= 313,000
= 140,850




A= Bt = 2M 1 23R40
M NSRRI RS
Hel: SR E 243 (SH9 H2)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH SEE Hnz=2
SmrTACERE N S5 B Ol &0 ==
| Al 328,650
LESE 2EAMY 180,000 0 180,000
= 72,000
= 32,400
Al 75,600
307 2I2to1 180,000 0 180,000
= 72,000
= 32,400
Al 75,600
02 QB EANGE X 180,000 0 180,000
OZJt, 0I0P| 2l dnd
180,000, 0002 *100% 180,000
= 72,000
= 32,400
Al 75,600
HSLAL 2otF4 2EAIY 37,500 37,500 0
= 15,000
= 6,750
Al 15,750
307 212told 37,500 37,500 0
= 15,000
[ 6,750
Al 15,750
02 QIHHAAEE X 37,500 37,500 0
OFH2 &H, LAl GHES
37,500,000 *100% 37,500
= 15,000
= 6,750
Al 15,750
ArA = AL BISSHAL 3,000 11,000 A8,000
= 2,100
S 270
Al 630
307 212t01& 3,000 11,000 A8,000
= 2,100
S 270
Al 630
04 CIZHHAAIS E & 3,000 11,000 A8,000
(OEN=Tge= N 3,000,000 *100% 3,000
= 2,100
= 270
Al 630
L8 X=s =AM 120,000 0 120,000




A= Eot2Eoie= AN 2etFA
i MSE3 RLUHEE
o 23RAMEE 243 EEREE)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH SEE Hnz=2
SmoETAreER e T == B Ofl &k ==
= 36,000
Al 84,000
307 212t01™ 120,000 0 120,000
S 36,000
Al 84,000
04 QIZHHAIAIH 2 £ 120,000 0 120,000
OHE X=2s =AM 120,000,000 *100% 120,000
S 36,000
Al 84,000
248 HEs: 20t €2 80,000 100,000 /20,000
307 212+01& 80,000 100,000 /20,000
02 QIRIHAANGE R 80,000 100,000 /20,000
OZEUESE 20t &4 =27 29
80,000,000 »100% 80,000
HSE3 L0l At 20,000 60,000 240,000
S 10,000
Al 10,000
307 212t01™ 20,000 60,000 240,000
S 10,000
Al 10,000
02 QA LAIEE X 20,000 60,000 40,000
O&HE=3 €801 At
20,000,000 *100% 20,000
= 10,000
Al 10,000
St S S HaA 30,000 20,000 10,000
S 9,000
Al 21,000
307 212t01™ 30,000 20,000 10,000
S 9,000
Al 21,000
04 CIZHHAIAIS E & 30,000 20,000 10,000
OAsdh S0 S+=Hat M4
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& 1,850,000
Al 1,000,000
LE-EE 2& A0IS3t =4 300,000 300,000
401 AIEHIZ 2018 300,000 300,000
01 AlEHI 300,000 300,000
OZAIZeIHE (MEZE)
300,000,000& * 14! 300,000
X HFE 2FAE =4 50,000 0 50,000
401 AlEHIZ 20| 50,000 50,000
01 Al&HI 50,000 50,000
OJ12 74 89 50,000,000 * 14! 50,000
o2 HICtUWS S0I00IRBEE =4 10,000,000 10,000,000
401 AIEHIZL 28I 10,000,000 10,000,000
01 Al&Hl 10,000,000 10,000,000
O=RX(2YL) EXIONY]
10,000,000,000& * 14! 10,000,000
NE22X JIBAIE &l 80,000 80,000
401 AIEHIZ 2018 80,000 80,000
01 AlEHI 80,000 80,000
OJIBAIE &I 80,000,000 14! 80,000
STH2AZTA =4 2,000,000 3,000,000 21,000,000
| 1,000,000




St = A 2N
BENY Y BRENSK
S22 Al = EER=E)
SA - ZE . B9(0) - ARAY - BAS of v G o HIDE2
Al 1,000,000
T 2Z2EAl ZEAMS 2,000,000 3,000,000 1,000,000
Il 1,000,000
Al 1,000,000
308 AtXIEHMSOIE 1,530,000 1,107,600 422,400
Jl 765,000
Al 765,000
13 S [2S0tHe 4 A AS A 1,530,000 1,107,600 422,400
ORE0 2F Al A
1,530,000,000& 14] 1,530,000
Jl 765,000
Al 765,000
403 MR HMSAHE01H 470,000 1,892,400 1,422,400
Jl 235,000
Al 235,000
02 SVI2S0 U H=E S A 470,000 1,892,400 1,422,400
OFRYMH 2F Al ZEAIE
470,000,000& *14] 470,000
7l 235,000
Al 235,000
2FENRA 2 S 12,000 0 12,000
QALY =X 12,000 0 12,000
201 Ler=23| 1,000 0 1,000
01 At2teltl 1,000 0 1,000
O2BEFI St E2= A & MRS
= 7Y 1,000,000 14| 1,000
202 04| 3,000 0 3,000
01 =LHOHI 3,000 0 3,000
OZZENFX L O
20,0002 38 *502] 3,000
308 XXM SOIH 8,000 0 8,000
18 SIS0t & AAS A 8,000 0 8,000
o2&t eS8z
4,000,000& 22 8,000
BEAlXd 13,238,400 11,562,400 1,676,000
= 6,554,000
=S 3,277,000
Al 3,407,400
HEEAEYE 3,142,000 142,400 2,999,600
[ 1,560,000
= 780,000
Al 802,000
ZEANECAl SEAY 2SS (2EAHECA) 22,000 42,400 £20,400
201 ZBt=Ehl 7,000 10,000 23,000




A= Set2Zoid= SA 2EIHE D
T HENECAEZY
Chel: ZENEZAITH EER=E)
A 2A - ZB . CR(3H) - HIRAY - BAES Ofl Ao Oﬁ]gﬁ HR=2
01 At2t2ltl 7,000 10,000 /3,000
OZZHEZAl F2012 22 =
1,000,000 23 2,000
OZZHEBZAl =& 2|
2,000,000 14! 2,000
ONEAS X2 & EES M
3,000,000 *14! 3,000
202 Ot 15,000 32,400 A17,400
01 =Lioi 6,000 14,400 28,400
O HEXd A2 ¢
20,0002 *32 %1002 6,000
03 =AY R0 9,000 18,000 29,000
OZZHEZAl 22€ OBIE 04|
3,000,000 *3H*13] 9,000
LS ABF2AEALH SH(2EHNEZA) 400,000 0 400,000
as 200,000
< 100,000
Al 100,000
201 LBl 200,000 0 200,000
z 100,000
< 50,000
Al 50,000
01 AtR2t2l] 200,000 0 200,000
OZE ABIZZAIHH H4eieolg =21
3 2 200,000,000 x 14! 200,000
z 100,000
< 50,000
Al 50,000
307 2I2to1 ™ 200,000 0 200,000
z 100,000
< 50,000
Al 50,000
02 2IZHBYAIHE A 200,000 0 200,000
OLE AEIZZAIH S2AHY
200,000, 0002 *10%* 1004 200,000
z 100,000
< 50,000
Al 50,000
LATE NE ZARBE=EHA 2 (NI ZA) 250,000 0 250,000
z 125,000
< 62,500
Al 62,500
201 fer23| 250,000 0 250,000
= 125,000
< 62,500




A= Set2Zoid= SA 2EIHE D
T HENECAEZY
Chel: ZENEZAITH EER=E)
A 2A - ZB . CR(3H) - HIRAY - BAES Ofl Ao Oﬁ]gﬁ HR=2
Al 62,500
01 AtR2t2l] 250,000 0 250,000
Ogd3e HE FA22=aHA 24
250,000,000 *14] 250,000
z 125,000
< 62,500
Al 62,500
SOl HAFUHAS MY & 2L (2ENEZA) 200,000 0 200,000
z 100,000
< 50,000
Al 50,000
201 eer23y| 200,000 0 200,000
z 100,000
< 50,000
Al 50,000
01 At2teltl 200,000 0 200,000
OSolietd G F0E W & 28
200,000,000 * 14 200,000
z 100,000
[ 50,000
Al 50,000
ZE U QHI2E KAl |4 & X (2EHEZA) 100,000 0 100,000
= 50,000
< 25,000
Al 25,000
201 er23 | 100,000 0 100,000
= 50,000
(= 25,000
Al 25,000
01 AtR2t2lt] 100,000 0 100,000
OoHI2E HEA |84 & X
100,000,000 14 100,000
s 50,000
< 25,000
Al 25,000
2SN HA(ZZHEZAI) 200,000 5,000 195,000
s 100,000
< 50,000
Al 50,000
201 LEer2 | 200,000 5,000 195,000
= 100,000
< 50,000
Al 50,000
01 AtR2t2l] 200,000 5,000 195,000




oA BHSR SN RENLD
HENE A EE
HENE A XE (St &)
SA - ZE . B9(0) - ARAY - BAS of v G o HIDE2
OMANE N & SaEeNAY 2%
200,000,000 » 14 200,000
= 100,000
[ 50,000
Al 50,000
HSWS0| A (ZE)(ZEHEZAI) 1,720,000 0 1,720,000
= 860,000
[ 430,000
Al 430,000
2ot2 A 1,720,000 0 1,720,000
s 860,000
s 430,000
Al 430,000
01 At22t2l] 10,000 0 10,000
TS +48 L JARIE +2
10,000,000 * 14| 10,000
= 5,000
=S 2,500
Al 2,500
Ar2 I 1,710,000 0 1,710,000
O2=8 85 W=0| AL Z2 038 O &
29 1,710,000,000& x14] 1,710,000
= 855,000
== 427,500
Al 427,500
KEH o8 THA(ZEHE Al 200,000 0 200,000
s 100,000
== 50,000
Al 50,000
2= 3 200,000 0 200,000
= 100,000
= 50,000
Al 50,000
01 AtR2tc|HI 5,000 0 5,000
OZFZ 442 U AR 22
5,000,000 *14 5,000
[ 2,500
= 1,250
Al 1,250
HAL2 I 195,000 0 195,000
OSafer A& o A =2
195,000,000 * 14! 195,000
= 97,500
=S 48,750
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A= F3t2roid= A 2ZNE
HE: RRHECAIEY
Chel: 2FNEFEA 84 & 29 (SH9 H2)
A - 24 - 38 - HA(3) - MM - BES Oi &k OE:IEF% Hunsz
= 275,000
Al 275,000
13 I 2 S0IeHE &R S AL 1,100,000 270,000 830,000
OBBAHETAl 22 OBIIE
1,100,000,0002 * 14 1,100,000
s 550,000
= 275,000
Al 275,000
X 28 OIEA R (SR HEZAI) 3,423,000 0 3,423,000
s 1,711,500
= 855,750
Al 855,750
401 AIEHIZL 201 3,423,000 0 3,423,000
s 1,711,500
= 855,750
Al 855,750
01 Al&HI 3,423,000 0 3,423,000
OZZ ¢y OEA X4
3,423,000,000& 14 3,423,000
s 1,711,500
& 855,750
Al 855,750
I BHAO S4 (L HEZAI) 3,200,000 100,000 3,100,000
s 1,600,000
= 800,000
Al 800,000
201 L2 | 3,200,000 100,000 3,100,000
s 1,600,000
& 800,000
Al 800,000
01 At 2telt] 3,200,000 100,000 3,100,000
OZIL 240 54 TEX A= L 2%
3,200,000,000& 14 3,200,000
s 1,600,000
& 800,000
Al 800,000
B HEHAAMY =& L 2EXAIE 2 8,400 8,400
201 L2 | 2,000 2,000
01 At 22|l 2,000 2,000
OZNEANY EE2SHH
1,000,000 * 14! 1,000
OZZHEAIY 3oXts HE L AIRES
2o 1,000,000 14! 1,000
202 o4t 6,400 0 6,400




AR 2sEBHY= SN BRI
M S HECAIXA
Hel AFNEEA =4 ¥ 2 (SH9 H2)
AT SA - FE . B(BH) - HEAY - B ofl vy aET HD=2
a=-FM-3%-8 o 8= = ofl &b S2
01 2L Y| 6,400 0 6,400
OJAZHEAIY 204
20,000& x4H x803| 6,400
AL g8l OIEA 2HIX ME & SH(HZHETA) 1,900,000 0 1,900,000
ras 950,000
& 475,000
Al 475,000
201 LBr2AH| 1,900,000 0 1,900,000
rag 950,000
= 475,000
Al 475,000
01 AFR2telHl 1,900,000 0 1,900,000
OLYUOIEL 2EHZE HE U 2
1,900,000,000& *1A! 1,900,000
hay 950,000
o= 475,000
Al 475,000
22X AL 22 & 2H 1,59, 280 3,119,560 N 1,523,280
2R AL 22| - 29 1,59, 280 3,119,560 A 1,523,280
PUHAMAHSE 29 343,000 222,000 121,000
30 &dE= 331,000 202,000 129,000
01 SAl - SEHHANEZ 331,000 202,000 129,000
O HAIH CHHAIZHI(Z AL
331,000,000& =14 331,000
401 A& H|ILE0HY] 10,000 20,000 A 10,000
01 Al&HI 10,000 20,000 10,000
OAEE SXE=> 10,000,000& * 14! 10,000
404 Z2ANESHIENE2 2,000 2,000
01 SAt- SHUSHEZ 2,000 2,000
O HAIH CHRHAFZHI(XH)
2,000,000« 14! 2,000
SHEHeld A2 56,600 66,600 10,000
201 LEt2AH| 46,600 41,600 5,000
01 AFR2teltl 25,000 0 25,000
OsSYsHeld gXl2eld]
25,000,000 14 25,000
02 S32ZH| 21,600 41,600 220,000
OSYHLXEE B282=
1,800,000& x12& 21,600
401 AIEHI L 204 10,000 25,000 A 15,000
01 Al&H| 10,000 25,000 A 15,000
OSYHLEHeIH SN2 (Al =53})
10,000,000& =14 10,000
22 X &0 & 313,880 583, 160 N269,280




A= 2atFole= FA O 2N
g 22X AlE 22| & 2E
el 22X Alg 22l - 29 (SH9 H2)
42 RA - ZB . G9(3D) - HRAY - BYS Ol &t A HlmE2
[ elal] 62,880 9,160 A29,280
M IRINZZ2 RS2+ 62,880 2,160 A29,280
Oz &2 LA (SHS)
104,800 *30E 20! 62,880
201 LetE gyl 30,000 40,000 10,000
2 =23l 30,000 40,000 10,000
OZFANES MMSA=
20,000,000+ 14| 20,000
O2FAE= =4l 10,000,000+ 14| 10,000
401 AlZHIL 2 0HY] 221,000 451,000 230,000
01 Al 220,000 450,000 230,000
L= 22ANES FYI
40,000,000 *504 2 200,000
OZel2ZX AE 22032, AdHANE S)
20,000,000 %104 2 20,000
03 Al = CH Bl 1,000 1,000 0
O23Xl =Xl - 2l 1,000,000 14 1,000
oforEts S E HUIAN 500,000 450,000 50,000
401 AlZHIL 2 0HY] 500,000 450,000 50,000
01 Al 500,000 450,000 50,000
CEEE NI 100,000,000 %14 100,000
O3 SH=BIHFMZ UaHtl
400,000,000 +14] 400,000
OlEcl 2FoHh4 23 11,000 12,000 1,000
201 Ler2aY| 11,000 12,000 1,000
01 Ak 2teltl 1,000 2,000 1,000
Oo0lgc| 2ZX A 2SEE 7
1,000,000 14 1,000
2 s==3tl 10,000 10,000 0
OO0l 21X Ul 352= € 23
10,000,000 14 10,000
oretDl, 2382 ZoHd 41,100 52,800 A11,700
101 2124 13,100 12,800 300
M IRINZ22RSE+ 13,100 12,800 300
Ootetfp], 238 &3 23|
104,800 x5 x5 13,100
201 Ler2aY| 13,000 20,000 7,000
01 At 2teltl 8,000 10,000 A2,000
OFLES S ME 2825 7¢
8,000,000 14| 8,000
2 =234l 5,000 10,000 5,000
O332= € MAl 5,000,000+ 14| 5,000
401 AlZHIL 2] 15,000 20,000 5,000
01 A€ 15,000 20,000 5,000




SHRBHLR S BN
BN AL 2l Y 29
X AlE 22l - 23 (SH9 H2)
CRA - FB . O(BH) - HRAY - BAS A HimE=T
I EENES 15,000,00024*14] 15,000
souzd 2y 330,700 360,000 29,300
201 Ler2 | 8,000 8,000 0
01 AR Er2IH] 8.000 8,000 0
OtEHEAIZ 2RX EXANER(SLSR)
8,000,000 14} 8,000
309 HEZ 229,700 222,000 7,700
01 ZAb- SHAAEES 229,700 222,000 7,700
OSUBH HHAIHI(Z4)
229,700,000 14} 229,700
401 AI&IBI LS CHE| 90,000 130,000 40,000
01 Al&t| 90,000 30,000 40,000
OSYTA(AZHAIZ)OHHE Y RN
* 10,000,002 14! 10,000
OSUBH AEE 24BA
80,000,000 14} 80,000
404 BAFBEEEES 3,000 3,000
01 BAH- BHGEEES 3,000 3,000
OSUBE HHAIHI(XH)
3,000, 00081 14! 3,000
BH A (BRI D) 26,880 28,320 A 1,440
SIECT] 26,880 28,320 A1,440
o= 26,880 28,320 A 1,440
201 Let2 | 16,080 16,080 0
01 AlR2F2IH| 16,080 16,080 0
OHBALEETY 3,000,000 14! 3,000
O2RB 4| 00,0008 <128 1,200
oM ¥ EN7Y 100,0008! <128 1,200
OAFRIID| ARERY
3,000,000 %14 3,000
Ozl 8.,0002! <162 +603] 7,680
202 01t 7,200 8.640 A1,440
NETT 7,200 8.640 A1,440
OJl=L +0iH|
90, 00021162 +53] 7,200
203 PR FAL| 3,600 3,600
0 FASYLRER| 3,600 3,600
ORNEYYREN 300,000 <128 3,600




A £ 0l & AF & S

Al A

a2 2szEHe SH MK
33 MEE
gelr JENS |4 EER=E)
4224 - B G9(EH) - AIRAY - BES of v G o HIDE2
M= 1t 22,473,908 25,690,584 A3,216,676
= 130,000
Jl 2,294,963
= 1,794,364
Al 18,254,581
Hsds 18,906,968 21,824,444 N2,917,476
7l 1,132,463
= 771,864
Al 17,002,641
d2HE |54 9,097,848 7,363,766 1,734,082
== 50,000
Al 9,047,848
NEESEIIR 288 3,510,100 3,311,159 198,941
101 e124d| 42,725 36,916 5,809
M ORINZZ2NSE S 42,725 36,916 5,809
OZOAAAE etd2te] & HII2E BX 42,725
S 100,000 12 +230 23,000
oFFrY 100,000« 13 +46& 4,600
oA\ Xt=g 100,000 x1&* 11 1,100
oxdsd 100,000 x 1506 L x 112 9,900
oA2te 22+E
18,7503 *20AI 2+ 112 4,125
201 er23y| 1,500 2,000 2500
01 AtR2t2|HI 1,500 2,000 A500
ONFREZIIR AEXANS
1,500,000 *14] 1,500
202 04| 3,600 5,760 A2,160
01 =LHOLI 3,600 5,760 2,160
OZJ1 It 83 S 0iH
20,0002 «3E +53|* 122 3,600
301 EtE N = 3,372,275 3,016,483 365,792
R2istd - 2SFS2EYE 3,372,275 3,016,483 365,792
O=4= 645,443
og0 365,000
&= 55,000,000 *1& 55,000
S8 d= 60,000,000& 2 120,000
As d== 50,000, 000& »2H 100,000
B2 &= 40,000,000 24 80,000
o4l 2= 47,531
-=RUASEEE 418,800,000 *4. 5% 18,846
- ALTEES 418,800,0002 »3.545% 14,847
YIS E 14,846,4602 x12.81% 1,902
- IEEER 418,800,000& *1.75% 7,329
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418,800,000& *1. 1%
379,200,000 *11%
200,000 x1& 128
200,000 x7E 128
10,000,000& * 14!
5,000,000& 14!
50,000,000 x14!
20,000,000& * 14!

2,000,000 *14]
20,000,000 x14!
400,000 x7E 128
700,000 122
8,000,000 * 14!
3,000,000 %14

2,000,000 *14

55,000,000& 1
60,000,000 *x1H
50,000,000 2%
40,000,000& x1H

316,400,000 4. 5%
316,400,000 #3.545%
11,216,0002 «12.81%
316,400,000 *1.75%
316,400,000 1. 1%
274,000,000 *11%
200,000 x1&~ 128
200,000& x5« 128
350,000 «3F 122
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55,000,000& 1
60,000,000& x2H
50,000,000 2%
40,000,000& x1H

371,600,000 4. 5%
371,600,000 #3.545%
13,173,000& «12.81%
371,600,000 *1.75%
371,600,000 *1. 1%
336,800,000 *11%
200,000 x1E~ 128
200,000& x6H « 128
500,000 x1H 122
80,000,000 x14!
5,000,000 * 14!
20,000,000& * 14!
20,000,000& *14]

400,000 x6E «12&
800,000& 123
5,000,000 14!
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50,000,000 2%
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336,400,000 * 1%
294,400,000 *11%
200,000 x1& 128
200,000 x5« 12&
500,000& x3E«12&
5,000,000& 14!
30,000,000 x14!
30,000,000& * 14!

2,000,000& 14
20,000,000 x14!
400,000 x5« 122
750,000 122
8,000,000 * 14!
2,000,000& 14
1,000,000 «2F « 12

2,000,000 *14

65,000,000& 1
60,000,000 x5H
9,000,000 1 +4&

469,100,000 %4. 5%
469,100,000 %3.545%
16,629,000212.81%
469,100,000 *1.75%
469,100,000 %1. 1%
422,800,000 *11%
200,000 x1& 128
200,000 x6E ~12&
500,000 x5 7
15,000,000 x 14!
15,000,000 x 14
150,000,000& * 14!
160,000,000& * 14!
10,000,000& * 14!

2,000,000 %14
10,000,000& * 14!
400,000 x6E «12&
650,000 123

3,364
32,384
2,400
12,000
18,000
5,000
30,000
30,000

2,000
20,000
24,000

9,000

8,000

2,000
24,000

2,000

972,450
401,000

65,000

300,000

36,000
53,242
21,110
16,630
2,131
8,210
5,161
46,508
2,400
14,400
17,500
15,000
15,000

150,000
160,000

10,000

2,000
10,000
28,800

7,800




M ¢ HSH

;F?_—i: d2M=E |4 EER=E)
AR R BB O(SH) - MSAY - BAS 0l &y G o HIRS2
ocBER= 8,000,000& 14! 8,000
oM Etat AXtY| 1,200,000 x2H*12& 28,800
oH422] SAHl N
2,000,002 %14} 2,000
OS2 10,000, 000214} 10,000
401 AlEHILSH] 30,000 30,000
01 A&t 30,000 30,000
ONF2ETI|R MB U BT SN
= 30,000,000 14! 30,000
405 RtaE S| 50,000 120,000 A70,000
01 AL =2EF S| 50,000 120,000 70,000
oLE 828 #¢ 50,000
SERE 5,000,000& 14! 5,000
oEHR 5,000,000& 14! 5,000
oRER 20,000,000& 14! 20,000
o HOIIAIARR 10,000,000 * 14! 10,000
oHYL 10,000,000 * 14 10,000
406 JIEFRH=O| 10,000 100,000 A90,000
01 JIEFKH=0| & 10,000 100,000 A90,000
OFONQUAZS M2 2%}
10,000,000 & * 14! 10,000
(HZEAIQEZC XA 2,750,000 2,253,000 497,000
306 E¢= 2,750,000 2,253,000 497,000
01 &3 2,750,000 2,253,000 497,000
O ZEAE2H XA
2,750,000,000& * 14 2,750,000
M=l KA 918,662 705,309 213,353
307 S1Zto| & 874,662 700,309 174,353
03 QIZIHXEES2IHIE X 874,662 665,309 209,353
O EANMEE 294|
874,662,000& *100% 874,662
402 QI2EXH20I ™ 44,000 5,000 39,000
01 QIZEXHEAIE B (RHHITHE) 44,000 5,000 39,000
O#FZEH e 24,000,000 *100% 24,000
ONXEMESL AZEYNH 2L
20,000,000 *100% 20,000
stds s4 K& 420,000 290,000 130,000
307 2I2t01 ™ 240,000 90,000 150,000
02 CIZHEAAMHE R 240,000 90,000 150,000
O 4 & S8 et
40,000,000 *100% 40,000
O XK=+ 43t 200,000,000 *100% 200,000
308 AXIHHSOIA 180,000 200,000 20,000
08 WEI|I2UHCHSIE X 180,000 200,000 20,000




A2 2FBBHL 2N HSD
A HKAS
& MEXHNE |4 EER=E)
- 2N B GRAEH)  ARAY - BES ofl &4 G o HIDEY
OX - 380 HS4s X2(RS2H)
180,000,000 *100% 180,000
Z&FC Women =& X 60,000 0 60,000
= 30,000
Al 30,000
307 212+olH 60,000 0 60,000
= 30,000
Al 30,000
02 BIIAMAI 2 60,000 0 60,000
OZ&FC Women E&4 X
60,000, 00021 * 100% 60,000
=3 30,000
Al 30,000
H2HT IY 248D A 40,000 0 40,000
= 20,000
Al 20,000
307 212+0lF 40,000 0 40,000
= 20,000
Al 20,000
02 BIIAMAI 2 40,000 0 40,000
OX2AS |4 2480 N
40,000,000 100% 40,000
= 20,000
Al 20,000
2024 BRASHNURE 2EHKH3] 723,000 723,000
308 XX EHHI SO & 723,000 723,000
08 WRI| 20N Z 723,000 723,000
O224 ASLERAE AHHKUHS M= X
&l 723,000,002 ¥100% 723,000
2= 24HSH 2% 35,486 34,798 688
101 ©124H] 25,486 24,798 688
04 JRHMIZ2 SRS 25,486 24,798 688
Ooxsz 2r2/el 25,486
SPt== 88,8002 *124x2302 20,424
oFFAY 83,8002 %124 x46 4,085
Qi RtAY 83,8008 124+ 11l 977
201 LEh2 | 10,000 10,000
2 22| 10,000 10,000
OBZ22 % HAl 8,000
oXII23, 22 S
8,000,000+ 14! 8,000
OAIEZH KA 2,000,0008! 14! 2,000
= HSHs 2t 25,000 20,000 5,000
307 212+olH 25,000 20,000 5,000




D 2et2tEol = M ¢ HSH

;F?_—i: d2M=E |4 EER=E)
AR .24 ZE . G230 - NIRAY - BES ol ke G o HlmS2
02 QIRHE L&A B X 25,000 20,000 5,000
OHMI1obal 8= M=0Hal &It
25,000,000 *100% 25,000
&A= AEM=0E &It 10,000 30,000 220,000
307 gI2tol ™ 10,000 30,000 220,000
02 QIZHAAAIHE X 10,000 30,000 220,000
ONB3g &M= AEMSUSE =t
10,000,000 *100% 10,000
ZASENUX T2 M=OUHE &It 400,000 345,000 55,000
307 212+01 A 400,000 345,000 55,000
02 QIRHEAAIH B X 400,000 345,000 55,000
ONB9g HASSEAXEZ2 M= &It
400,000,000 *100% 400,000
ZRASEXISXIALDI(E]) CHsl &t 40,000 40,000
307 QI2Hol 40,000 40,000
02 QItBAAIH E X 40,000 40,000
OLASYXXIEXIALDI(BH) CHsl &t
40,000,000 *100% 40,000
ZESEUXE AN Otet=Hel &t 8,000 8,000 0
307 QIZ2t01 A 8,000 8,000
02 QIZHBAAIEER 8,000 8,000
ORHMI33s ZJASEUXE 2M Ot2tEHS &
It 8,000, 000& *100% 8,000
ZEAl cIE0FE =03 &It & 29 15,000 15,000 0
307 QI2Hol M 15,000 15,000
02 QIZtBAAIHE R 15,000 15,000
Q2024 ZEAl IS0 =03 &It Y
=29 15,000,000 *100% 15,000
AEHH =+ EO|H 100,000 0 100,000
307 QIZt01 A 100,000 100,000
04 CIZHSHALAIRIE & 100,000 100,000
Q2024 ZEHLHM =7 O™
100,000, 0003 *100% 100,000
ZEAIEI] EHE =3 30,000 30,000
307 212+01 A 30,000 30,000
04 QIZHHAIAIRIE & 30,000 30,000
OHM4al ZSAIEI| AT T3
30,000, 0002 *100% 30,000
ZEAIEH FAE =FUal 7,000 3,500 3,500
307 gI2tol ™ 7,000 3,500 3,500
04 CIZHSHALAIRIE & 7,000 3,500 3,500
OHMIZE LEAEH S4E =HUHS
7,000,000& *100% 7,000
ZEANEI| AU 5,600 8,000 A2,400




M ¢ HSH

;F?_—i: d2M=E |4 EER=E)
AR .24 ZE . G230 - NIRAY - BES ol ke G o HlmS2
307 212+01 A 5,600 8,000 A2,400
04 QIZISHAIAIRIE & 5,600 8,000 A2,400
02024 ZEAEI| S4UE
5,600, 0002 *100% 5,600
MEHE ME 1,644,840 1,286,600 358,240
| 624,708
& 113,320
Al 906,812
MEs T2 29 10,000 33,600 A23,600
307 QI2Hol M 10,000 33,600 23,600
02 QIZtB AT E X 10,000 33,600 A23,600
OAVHZZT DA 2
500,000 2% x10& *100% 10,000
MEtswa 2 X2 20,000 20,000 0
= 10,000
Al 10,000
307 212+01 A 20,000 20,000 0
& 10,000
Al 10,000
02 QIZtAAAIEER 20,000 20,000 0
OMEXSDA 2EX
20,000, 0002 *100% 20,000
& 10,000
Al 10,000
=X 100 ZEMESHH 29 203,640 200,000 3,640
| 142,548
Al 61,092
308 AHXIHMSOIH 203,640 200,000 3,640
| 142,548
Al 61,092
13 I 2 S0IeHE & A S AL I 203,640 200,000 3,640
OYENHZHE =
203,640, 000& *100% 203,640
J| 142,548
Al 61,092
AE=AL 012H KIEAS 688,800 480,000 208,800
| 482,160
& 103,320
Al 103,320
301 LPENF 688,800 480,000 208,800
| 482,160
& 103,320
Al 103,320
01 A BE X2 (2 REETE) 683,800 480,000 208,800




A= 2eEoe= 2A  HSH
3 Msds
ool dEHs 8 (St &)
A= - BA - Y HA(SAH) - NRAMNY - BES Off &4 %E% BlunsZ
OAE=2E 01EA XA
688,800, 000& *100% 688,800
Il 482,160
[ 103,320
Al 103,320
NEAZXZ2Y 29 (AT X2 AL) 120,000 20,000 100,000
307 212t01™ 120,000 20,000 100,000
03 QI HNEE 22X 120,000 20,000 100,000
OLSAX=SY 2N
80,000,0002 *100% 80,000
OLEREAZXZY 2EXH
40,000,000 *100% 40,000
S3EAZXZY SE(CUSE AENEAY) 216,000 72,000 144,000
307 212t01™ 216,000 72,000 144,000
02 QIZHHMAIAE 216,000 72,000 144,000
OS2 AZ=ZY |4
72,000,000 *3IH 2+ 100% 216,000
Lo SEALXZY NFML(SHEXY) 5,750 5,750
307 gl2to| & 5,750 5,750
02 BIZIHAAIL B E 5,750 5,750
O024E R+ SSAZXZY XA
5,750,000 *100% 5,750
ZESENXIEE MEHSHE St 130,000 110,000 20,000
307 212t01™ 130,000 110,000 20,000
02 QIZHHMAIAE 130,000 110,000 20,000
ON32e| ZHASENXEL HEHFUHS
130,000, 0002 *100% 130,000
JESENXE 24 HSHFUS St 25,000 25,000 0
307 gIzto|d 25,000 25,000
02 QIS EX 25,000 25,000
ONI198] 2HASEINXE H2L MEBHKH
2l 25,000,000 *100% 25,000
JASENXERIALI(BY) LRSI It 46,650 48,000 A1,350
307 212t01& 46,650 48,000 1,350
02 QIIHAANSEE R 46,650 48,000 A1,350
OZASEXNXITXIAHE) SRS &
ot 46,650,000 *100% 46,650
JEASENXE HESER=Ua ot 25,000 25,000
307 212t01™ 25,000 25,000
02 QI HAANEE X 25,000 25,000
OHNI3s 2HASELETNXE HESEHEUS
=ol 25,000,000 *100% 25,000
28 NE A 6,000 12,000 26,000
307 212t01 & 6,000 12,000 26,000




M ¢ HSH

AR RN - BB SA(EH) - RS - BYS O] a0 A CImE==
04 QIZFHAIAIE E X 6,000 12,000 26,000
02024 25 K& CHEH &
6,000,0002 *100% 6,000
3-1& ZSAIQ A2geDIUzE 10,000 10,000
307 212t01 & 10,000 10,000
04 QIZHHALAIR 2 & 10,000 10,000
O3 - 18 LEAIQ AZge|IIts
10,000, 0002 *100% 10,000
LEAIL MEX = 126,500 95,000 31,500
307 QI2H0| M 126,500 95,000 31,500
04 QIZFHAIAIE E X 126,500 95,000 31,500
OHNi152] ZSAIR! MEHSHE
126,500,0002 *100% 126,500
ZEAEH =203 8,000 5,000 3,000
307 212t01 & 8,000 5,000 3,000
04 QIZHHALAIRI E & 8,000 5,000 3,000
ORMIbal ZEAEH AlIBIZEHE
8,000, 0002 *100% 8,000
E=E S8 U3l ot 3,500 5,000 21,500
307 2I2+0l ™ 3,500 5,000 21,500
02 QIZHHLAIHE XL 3,500 5,000 21,500
02024 5=2¢ 258 Uzl ot
3,500,000 *100% 3,500
ZUMsE 43t 697,352 580,008 117,344
| 85,107
L= 18,237
Al 534,008
ZoQ M=l K& 348,370 300,488 47,882
307 QI2H0l A 344,370 296,488 47,882
03 QIRIENHE2EHIB X 344,370 293,483 50,882
OZEAl ZUM=2 22|
344,370,000 *100% 344,370
402 QIZ2ERHE01 & 4,000 4,000
01 QIZEXHE AL B2 (KM THE ) 4,000 4,000
O#EZEEH - 4,000, 0002 *100% 4,000
ZME 43 XA 96,400 28,000 68,400
307 2I2+0l ™ 96,400 28,000 68,400
02 QIZHHLAIHE X 96,400 28,000 68,400
O MeEMswa 0lS2E
46,400,000 *100% 46,400
OFe! Hegd T2 2
10,000, 0002 *100% 10,000
Ot 4 X 40,000, 000& *100% 40,000
HOHAUAZ=2ZE Ol2H KIJALS 121,582 77,520 44,062




M ¢ HSH

M= gdat CHe M)
LR BB S(B) - NRAY - BAS 0l &y G o HIRS2
J| 85,107
T 18,237
Al 18,238
301 EtEXZ 121,582 77,520 44,062
J| 85,107
& 18,237
Al 18,233
01 Al & & 24l &) 121,582 77,520 44,062
O&OfUA L= A
121,582,000& *100% 121,582
J| 85,107
& 18,237
Al 18,233
= HOHCIM=UE 6,000 5,000 1,000
307 QIZ2t0IA 6,000 5,000 1,000
2 QIZHZAASEE 6,000 5,000 1,000
ORM443| &= H0 ==l
6,000,000 *100% 6,000
ZASEYE XX T EOoHe! 20t 85,000 71,000 14,000
307 2I2t01 ™ 85,000 71,000 14,000
02 CIZHEAAMHE R 85,000 71,000 14,000
OHMI173| L3AEE fol et =
3 85,000,000 *100% 85,000
ZRASE XX T EOofe! =03l 8,000 8,000 0
307 CIZ2tOI A 8,000 8,000
04 OIZISHAAIR B & 8,000 8,000
02024 ZASE XX & oH2g HOIE
=03 8,000,000 *100% 8,000
A2XI CHEE (ZO0He 7,000 20,000 13,000
307 2I2t01 ™ 7,000 20,000 13,000
04 QI2ISHALAIS & 7,000 0 7,000
02024 ANZXI3
7,000, 000& *100% 7,000
JIEF CHEl X (ZHoHe! 25,000 50,000 A25,000
307 CIZ2tOI M 25,000 50,000 A25,000

02 QIS EX 15,000 40,000 /25,000
X

OJIEH 3l X (HHAMZ)
15,000,000 *100% 15,000
04 QIZFHAIAISE B = 10,000 10,000 0
OJIEF tH3l XIJ(ZOoHI M=)
10,000,000 *100% 10,000
HMEXNEXN 249 1,335,388 1,166,190 169,198
) 282,648
= 5,307




M ¢ HSH

el MSANEX 29 (SH9 H2)
A 2A - ZB . CR(3H) - HIRAY - BAES Ofl Ao Oﬁ]gﬁ HR=2
Al 1,047,433
H2HSXCA 85 X 611,582 506, 106 105,476
307 2I2to1 611,582 506, 106 105,476
02 QIZHBAMAHEE 611,582 506, 106 105,476
OJlz=s 2,485,200 x14H« 128 417,514
Os4ltl 140,000 x14Z « 122 23,520
Og&E =l 2,485,200 *60%+23| * 148 41,752
OLEH| 120,000 x14H 123 20,160
o258 100,000& x5~ 123 6,000
OJEsd 100,000 «10Z * 122 12,000
OgdRE=s € E&3 =2
90,636,000 *100% 90,636
dotistys NSk 285 N3 251,656 245,504 6,152
Jl 125,828
Al 125,828
307 2I2to1d 251,656 245,504 6,152
) 125,828
Al 125,828
02 B AMAHEE 251,656 245,504 6,152
OXIEXt 2I24H|
2,607, 7502 x8& * 122 x100% 250,344
pJ 125,172
Al 125,172
OXN=Es 28z 1,312,000 *100% 1,312
2l 656
Al 656
HEdMe=s NEX g5 X 125,828 122,752 3,076
) 62,914
Al 62,914
307 2Itold 125,828 122,752 3,076
pJ 62,914
Al 62,914
02 LB HAHE L 125,828 122,752 3,076
OXNEXt eIy
2,607, 7503 x4 H 122 x100% 125,172
) 62,586
Al 62,586
OXlzgs 288 656,000& *100% 656
) 328
Al 328
HET=HE XIEA 17,690 0 17,690
= 5,307
Al 12,383




a3 FghBHL= 2A S
M MsEE
el MSANEX 29 EER=E)
AR RA - F - O(BIH) - NRAY - BES 0l Aro A timE=FT
307 2Ito1d 17,690 0 17,690
= 5,307
Al 12,383
02 2IZHBYAIHE X 17,690 0 17,690
O2s+¢ 7,610,0002 100% 7,610
< 2,283
Al 5,327
ogs=g 70,0002« 12 122 100% 10,080
(= 3,024
Al 7,056
MEHSKCA 25 2% 93,820 71,440 22,380
307 2Ito1d 93,820 71,440 22,380
02 2B YA E X 93,820 71,440 22,380
O=All| 140,000 x 12 %123 *100% 20,160
O st 120,000 122 » 122 x100% 17,280
OEEFItl 2,400,000 *60%*22| * 12H 34,560
OIE 61,2502« 12F 128 8,820
Oz=22=¢ 3,000,000 *100% 3,000
OgdREs 4 EXlsr==
10,000,000 *100% 10,000
NI M S =A &= KR 187,812 183,168 4,644
) 93,906
Al 93,906
307 2Ito1d 187,812 183,168 4,644
pJ 93,906
Al 93,906
02 2IZHB A E & 187,812 183, 168 4,644
OXIEXt eIy
2,595,000 62 122 100% 186,840
2l 93,420
Al 93,420
OXcgs 282 972,000 *100% 972
2l 486
Al 486
NI MEHSIEA &5 B2 47,000 37,220 9,780
307 2Ito1d 47,000 37,220 9,780
02 2IZHB A E & 47,000 37,220 9,780
O=All| 140,000 x62 * 122 10,080
OuSEH| 120,000 x6& * 122 8,640
OEEFItI 2,400, 0002 *60%*23] *6H 17,280
o258 960,000 *100% 960
OJE+g 5,040,000& *100% 5,040
O=nt==g 3,000,000 *100% 3,000




D 2et2tEol = M ¢ HSH

HSAEX 24 (SH9 H2)
CRA - FB . O9(B) - HRAY - BAS ol ke G o HlmS2
SEEEEEFEEEESS]
2,000,000 *100% 2,000
AZX0PHE 2,731,940 1,705,500 1,026,440
& 195,000
Al 2,536,940
AE=0PHE K& 173,440 48,500 124,940
201 B2 AY| 168,240 40,000 128,240
01 AlR22IH| 40,000 32,000 8,000
2= Ofsl NY U &
20,000,000 * 14! 20,000
O7EYE 28 10,000, 00021 %14] 10,000
OZAF 2R U2 10,000,000 14} 10,000
® 222l 240 0 240
OYLETTA E22T FII23
20,0002 128 240
03 &At2gH| 128,000 8,000 120,000
Oz dZ S K&
8,000,000 x14! 8,000
OKel2 A X1 30,000,000 14 30,000
O=HM(=2U)tHal 2 X
90,000,000 14 90,000
202 04d| 3,600 6,000 A2,400
01 =W OdbI 3,600 6,000 22,400
ONMsdHE =& 20,0002 x5 +33|x 12& 3,600
203 PRF=&IY| 1,600 2,500 A900
03 AR FRIHRFAIY| 1,600 2,500 A900
OMSE AHYR =& 1,600,000 14! 1,600
2 RFC XI& 880,000 880,000 0
308 AXIHMSOIH 880,000 0 880,000
13 BI |2 SOICHEH B A X LE AL 880,000 0 880,000
OZ&FC &14| XI& 88,000,000& 103! 880,000
dX =8 K2 60,000 50,000 10,000
307 QIZt01 A 60,000 50,000 10,000
02 QIZHBAAIEER 60,000 50,000 10,000
OHdXl=zdg K& 60,000,000 *100% 60,000
SHAES 2|1 90,000 80,000 10,000
307 212+01 A 90,000 80,000 10,000
04 QIZISHAIAIRIE X 90,000 80,000 10,000
OSHAEE 2|1 90,000,000 *100% 90,000
=220 8= Nssty =203 250,000 180,000 70,000
= 50,000
Al 200,000
307 gIzHol 250,000 180,000 70,000




St Y= A S
H=ds
ATX0OIAE EER=E)
224 - B - S9I(30) - HRAY - BES A HIDEZ
[ 50,000
Al 200,000
04 QIZFHAMALE 22 250,000 180,000 70,000
O2024 =2UJ &= NSstu =203
250,000, 0002 *100% 250,000
= 50,000
Al 200,000
s3] 8= 7ad 570 120,000 150,000 30,000
307 @I2to| & 120,000 150,000 30,000
04 QIZHHAMAIH 2 £ 120,000 150,000 A30,000
ONM143l =001 & =703
120,000,000 *100% 120,000
2SI 8= clE0FU = 100,000 100,000 0
307 lztol & 100,000 100,000
04 QIZHHAMAIH 2 & 100,000 100,000
ONI102l 8487 OFCH=l
100,000, 0002 *100% 100,000
ZEH &= HH=CIEUE 25,000 22,000 3,000
307 @120l & 25,000 22,000 3,000
04 QIZHHAMAIH 2 £ 25,000 22,000 3,000
OHMl18al ZXH &M= BH=2IE U2
25,000,000 *100% 25,000
HASH 8= OAHISHE 110,000 0 110,000
307 elztol & 110,000 110,000
04 QIZFHAMALE 22 110,000 110,000
02024 st 8= O AHt=SU2l
110,000, 0002 *100% 110,000
ol &= HILIAU=] 12,000 15,000 /3,000
307 gl2to| & 12,000 15,000 23,000
04 QIHHAMAIH 2 £ 12,000 15,000 A3,000
ORI362! ot &= HILIAW2
12,000,000 *100% 12,000
S S d= s72UE 60,000 0 60,000
& 30,000
Al 30,000
307 glztol & 60,000 0 60,000
= 30,000
Al 30,000
04 CIZHHAMAMH 2 & 60,000 0 60,000
O2024 4 SHH & 3
60,000,000 *100f% 60,000
=S 30,000
Al 30,000
&= IS g§502 22,000 22,000 0
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A= Est2Eoie= 2A SN
M MEE
Ehelr AXX0PE EER=E)
224 - BB O9(B) - HISAY - BAS 0fl 04 A DS
Al 15,000
04 QIZFSHAIAIH B X 30,000 30,000 0
o224 EHIZE IN 23S
30,000, 000& *100% 30,000
< 15,000
Al 15,000
2SH S5 =& =AU 30,000 30,000 0
307 e12+old 30,000 30,000
04 QIISHAAIH B X 30,000 30,000
ORM5g| ZEH 852 =& =203
30,000, 000 «100% 30,000
SN &= =02 50,000 50,000
307 2I2+0I1H 50,000 50,000
04 QIISHAAIH B R 50,000 50,000
O2024 LEAEH = ==
50,000,000& *100f% 50,000
2 A NSUE 290,000 290,000
307 eI2+old 290,000 290,000
04 QISHAAIH B X 290,000 290,000
Q2024 ZEE2 ZAL MEUHS
290,000, 0002 *100% 290,000
JXE OletEUS 60,000 45,000 15,000
307 212+0l1& 60,000 45,000 15,000
04 QIZFSHAIAIH B X 60,000 45,000 15,000
O2024 B OtetEHS
60,000, 000& *100f% 60,000
JZH A= E=03 10,000 0 10,000
307 el2+old 10,000 10,000
04 QIZSHAAIH B X 10,000 10,000
O2024 2 d= =202
10,000, 0002 *100% 10,000
Qletol ALE SOMHE d2d 40,000 0 40,000
307 212+01H 40,000 40,000
04 QIISHAIAIZ B & 40,000 40,000
O2024 eletel ATE =JMHE d2d
40,000,000& *100% 40,000
703! 8= SHSESFH=HU2 200,000 0 200,000
< 100,000
Al 100,000
307 eI2+old 200,000 0 200,000
< 100,000
Al 100,000
04 QIISHAAIS B X 200,000 0 200,000




A= Set2Eoid= 2A SN
M MEE
Ehelr AXX0PE EER=E)
Al = % o|(5 = dEE =
A2 2A - B O9(3) - HIRAY - BES Ol &t S B2
OHM708 A= JUHSEERE=U3] (M
MEUal Ze) 200,000, 0002 «100% 200,000
< 100,000
Al 100,000
HSAIE Jlgt 2= 3,399,600 5,956,000 A2,556,400
) 140,000
< 390,000
Al 2,869,600
SHS MSAE 2 457,000 571,000 A 114,000
201 Zet=3hl 57,000 70,000 13,000
01 At2teltl 17,000 20,000 A3,000
OMSAIE Ul BE2X AIEE
10,000,000 * 14! 10,000
OMSAIE 472 2=
7,000,000 14| 7,000
2 35234l 40,000 50,000 10,000
OSUMEAIE &)= S
40,000,000 *14] 40,000
401 AIEHIL 20| 400,000 501,000 101,000
01 Al&HI 400,000 500,000 100,000
OSUHHSAIE A4 & 24
400,000,000 %14 400,000
H=Al2 EHl 602,600 805,000 A202,400
202 04l 5,600 3,000 2,600
01 2LHA Y] 5,600 3,000 2,600
OSSHSAIE g2 =4
20,0002 x4 x703] 5,600
401 AIEHIL 20| 597,000 802,000 205,000
01 AlZHI 595,000 797,000 202,000
OZZHSAIE HE=
495,000,000 * 14! 495,000
Otz | 100,000,000& 14! 100,000
03 Al 20HHI 2,000 5,000 3,000
OZSHSAIE N2
2,000,000 14 2,000
SEMSAE T3 680,000 780,000 100,000
201 Zet=Ehl 680,000 780,000 100,000
01 At2teltl 330,000 430,000 100,000
Ogt=gs2d (=) dUHEX EXNSUZE X
= 330,000,000 %14 330,000
2 s3234| 350,000 350,000 0
Oet=2gs2d(F) UEX MM & &
SSEA X2 350,000,000 x 14! 350,000
48 R =38 HEAL 750,000 750,000
401 AlZHIL 20 750,000 750,000




M ¢ HSH

(ehol:®el)
AR R BB O(SH) - MSAY - BAS 0l &y G o HIRS2
01 Al&HI 750,000 0 750,000
OYS Y2H +AT Y AALAY]
750,000,000 14 750,000
Wis ZAE OIXRC WXl SA 110,000 110,000
401 AIEHIZL20HH| 110,000 110,000
01 Al&HI 110,000 110,000
Ounls ZAE AAXEC] wxl
110,000,000 * 14| 110,000
LAEZSHE HOHR HOAIA JHEAIS 200,000 0 200,000
J| 140,000
Al 60,000
401 A2 HIYL 204 200,000 0 200,000
J| 140,000
Al 60,000
01 Al&HI 200,000 0 200,000
OZLEZ S HIH HOHR!I HOIAIA A
200,000,000 14! 200,000
J| 140,000
Al 60,000
2E HLUAX HAAIS (HEAIY) 600,000 0 600,000
= 390,000
Al 210,000
401 A HIYL 204 600,000 0 600,000
& 390,000
Al 210,000
01 Al&HI 600,000 0 600,000
OZE HUAE A& JiE
600,000,000 14 600,000
T 390,000
Al 210,000
SR 23 3,276,320 3,542,520 266,200
s 130,000
J| 1,162,500
& 1,022,500
Al 9%1,320
STESF A 2L 3,268,320 3,534,520 266,200
= 130,000
J| 1,162,500
= 1,022,500
Al 953,320
2ESHEL RIS 29 73,320 89,520 16,200
201 LEr2AYH| 69,320 84,520 15,200
01 A2l 48,400 54,400 26,000




A= Est2Eoie= A HIS
I SN EE
oelr SEERA 2 ESR=ED
A2 RA - F- . O9(3H) - ARAY - BAS O &kt A Hms2
ORNY 2823 7
9,000,000 14| 9,000
OTAESS 3l & =2
11,000,000+ 14! 11,000
OF==D| 22il 50,0008 * 122 600
OSB3l 2telt] 300,000& * 1204 2 3,600
octis=2= M& 5,000,000& + 14! 5,000
OFazel 89| 1,400,000« 12042 16,800
OAFRI121 & Xl 200,000 122 2,400
2 s3234| 20,920 30,120 29,200
OQEYeld & Stg
410,000 * 12942 4,920
OTANESE 282 10,000,000+ 14! 10,000
OAIEZHl || 500,000 <1204 6,000
202 Ot 4,000 5,000 1,000
01 2LHOY] 4,000 5,000 A 1,000
SYLRA 22| RF o]
20,0002 x5 402 4,000
S S2AL RXI, 22 20,000 20,000 0
401 AIEHIZL 20| 20,000 20,000
01 Al&€HI 20,000 20,000
O=g8Y 8248s MUAEXl & RA2e
20,000,000+ 14| 20,000
ZEA S KLY 2435 20,000 20,000
307 2I2+01& 20,000 20,000
02 QI B AL E R 20,000 20,000
OS8H RAAE 282X
20,000, 000& *100f% 20,000
24E 223 HAl 50,000 60,000 10,000
301 LetE2NS 10,000 10,000 0
11 ARHIXIRS 10,000 10,000 0
OAlI2IZE 2l dHl2d
10,000,000 *14] 10,000
307 212+0I1H 40,000 50,000 10,000
04 QIZFSHAIAIH B X 40,000 50,000 10,000
o2& ZgU2l = 16,000,000 *100% 16,000
OAlIZIZE U=l =l 24,000,000 *100% 24,000
2e 55 243 A 20,000 0 20,000
< 10,000
Al 10,000
307 e12+0l1d 20,000 0 20,000
< 10,000
Al 10,000
04 QIZISHAIAIH B X 20,000 0 20,000




A= 2et2Zoid= 2A S
3 IR EE
Rl SEERL 22 EER=E)
A 2N B G(B) - NRAY - BES 0 &y dles HIRS
Ofl &k2h
OZd &= 243 N2
20,000,000 *100% 20,000
< 10,000
Al 10,000
SHAZX SR A(F=SYLCHH BZ) 2,325,000 2,325,000 0
) 1,162,500
< 697,500
Al 465,000
307 2I2t01 2,325,000 2,325,000 0
Jl 1,162,500
= 697,500
Al 465,000
02 2B YA HE X 2,325,000 0 2,325,000
OSHAEE LT (=S YEITHH BE)
2,325,000, 0002 *100% 2,325,000
Jl 1,162,500
< 697,500
Al 465,000
o AXE HAEIY HE(ZRHECAI) 260,000 290,000 30,000
= 130,000
[ 65,000
Al 65,000
201 er23 | 260,000 290,000 30,000
= 130,000
& 65,000
Al 65,000
03 A2 I 260,000 290,000 £30,000
Oglah AZX HAEIYE 29
260,000,000 x 14 260,000
s 130,000
< 65,000
Al 65,000
2024 EXMOIZEMAL =S 500,000 0 500,000
< 250,000
Al 250,000
307 2Ito1H 500,000 0 500,000
< 250,000
Al 250,000
04 DIZHHATAIZ B X 500,000 0 500,000
02024 EXHOZEMALd =AU XA
500,000, 0002 *100% 500,000
< 250,000
Al 250,000
YA =HLF 8,000 8,000 0




A= 2et2Zoid= AT S
3 IR EE
Cel: SEHIEAl ZHLF EER=E)
A 2A - ZB . CR(3H) - HIRAY - BAES Ofl Ao Oﬁ]gﬁ HR=2
HAHSEEHZAIGY NF 8,000 8,000
201 er23 | 8,000 8,000
01 At2teltl 8,000 8,000
ONMASZHAIHY H3H|l g2
8,000,000& *14] 8,000
024 28 SHELHSEE =8 257,160 283,000 30,840
2024 23 SHELEHSEE 2=l 257,160 283,000 130,840
a2 2435t 89,160 238,000 A 148,840
201 er2 3| 89,160 238,000 A 148,840
01 At2t2lt] 89,160 58,000 31,160
OE=2=2(8=8, T2, il S) M
51,160,000& » 14 51,160
O=F, AOILIXI S &X
2,500,000 *87H £ 20,000
Olzl 218 cl2x HH
2,000 +3,0005+35 18,000
el 28X 100,000 0 100,000
201 er23| 70,000 70,000
01 At2teltl 70,000 70,000
OZguH U2z Xa
70,000,000 * 14 70,000
401 AlEHIYL S THYI 30,000 30,000
01 Al&HI 30,000 30,000
OHlI=AIE 228+ & S|3A
30,000,000 *14] 30,000
024 2 SHELAESSEHU FAEEWES X 19,000 19,000
307 2Ito1d 19,000 19,000
02 2IZHB A E & 19,000 19,000
OFAHFWL ESEX
19,000,000 *100% 19,000
024 2 SHEAESHEHUS HASA 2EXE 49,000 49,000
307 2I2to1 49,000 49,000
02 QIHAANGER 49,000 49,000
OZZet NHHASAA 2E2E
10,0003 *350Z * 14 49,000
HYE2SAHI (M=) 33,460 35,620 22,160
Jl=3sl 33,460 35,620 22,160
JI=2&Hl 33,460 35,620 22,160
201 fer23y| 23,100 25,260 12,160
01 AtR2t2l] 23,100 25,260 22,160
Ogit==H| 15,900
CHTANRES 4,080,000 14 4,080
SALRII| 22F 3,500,000 *14] 3,500
b2 A= 20,0002 x45+ 122 960




a2 g2 oie= FA M=

M AH2AZHI(M=D)

&l D122 (CH9): &S
Al = % o|(5 = dEE =
AT 2A B - BRI(E0) - HRAY - BAS ol &t aes DS

SISV 180,000& »223] 360
oHFEH| =2l 4,000,000 *14] 4,000
SJIE 42| 3,000,000 %14] 3,000
Ozt 7,200
o)|2YS =& Al
8,000& x15&H 60 7,200
202 04l 7,360 7,360
01 =B 7,360 7,360
OJI2gS =& ol 40,000 1843 7,360
203 R =& 3,000 3,000
M4 FA2HARFEI 3,000 3,000
O=RM2ggREx 250,000 12¢ 3,000




HlE Ol & AHS S Al A
A= Est2Eoie= SA oAt
I oL AB WY 25
el MRS (SH9 H2)
A 2A - ZB . CR(3H) - HIRAY - BAES Ofl Ao Oﬁ]gﬁ HR=2
off &F =&t 19,590,024 22,750,990 13,160,966
= 905,061
z 6,367,383
< 3,085,208
Al 9,282,377
offdraE3 Wy A5} 14,372,784 20,295,410 15,922,626
= 698,061
z 3,737,383
< 2,423,108
Al 7,514,237
=MEMAE 520,844 602,824 281,980
= 110,920
< 169,324
Al 240,600
=atele] & JglAL NI 8,664 9,690 N1,026
< 2,280
Al 6,384
307 e12+0ld 8,664 9,690 N1,026
< 2,280
Al 6,384
02 LB HAHE X 8,664 9,690 ~1,026
O==ttelo] & I8 A K&
9,120,000& *95% 8,664
S 2,280
Al 6,384
ool =& 210,000 293,300 83,300
< 126,000
Al 84,000
301 LetENZ 210,000 293,300 83,300
< 126,000
Al 84,000
14 IIBEa= 210,000 293,300 83,300
oogel =& 700,000 300 210,000
< 126,000
Al 84,000
oHE 2USAA X2 30,000 25,000 5,000
307 el2+old 30,000 25,000 5,000
04 QIZSHAAIH B X 30,000 25,000 5,000
O0lE =23 fEE}M Hs
12,500,000 *80% 10,000
OOCENA &M 25,000,000 80% 20,000
HEH el SXBHRH X2 49,200 34,000 15,200
< 19,680
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AR 2SBBHYR
Ha: olYAENE Ust
CHol: SAHMEIE

AZ 2N - FB - OI(SH) - NRAY - BIES 0 &t A blnE2
02 QIRHE L&A B X 6,000 0 6,000
OFNAHEZSSH MRL i
7,500, 0002 *80% 6,000
AE2eloe SdA 72,000 90,000 218,000
= 40,000
& 6,400
Al 25,600
402 IZERH=0IN 72,000 90,000 A 18,000
= 40,000
= 6,400
Al 25,600
02 QIR AL B (01 & THEA) 72,000 90,000 218,000
OXEZelog SHAY
80,000, 0002 *17H 2 *90% 72,000
= 40,000
= 6,400
Al 25,600
ZE0ILE =N 1,200 0 1,200
= 1,200
301 LEBNZ 1,200 0 1,200
= 1,200
14 JIEt2 43 1,200 0 1,200
OBYOISHER|
100, 0002 * 11271 2 x100% 1,200
= 1,200
ofimtel d=mlo H2X& 16,000 0 16,000
& 6,000
Al 10,000
307 gI2Hol ™ 16,000 0 16,000
= 6,000
Al 10,000
02 QIR AAIEE R 16,000 0 16,000
Odfiitel J=20la =X
20,000,000 *80% 16,000
& 6,000
Al 10,000
N ANIN G R gl 3,173,8% 4,902,300 A1,728,405
= 257,125
= 813,670
Al 2,103,100
D=2 2 A 21,900 36,800 214,900
= 21,900
402 CIZERH=0I M 21,900 36,800 214,900
= 21,900




A= SN L= 2A ¢ o4
A SUsaBE U
Rl =& 2 EER=E)
AT SA - FE . B(BH) - HEAY - B ofl vy aET HD=2
a=-FM-3%-8 o 8= = ofl &b s2
02 QIZHEAIL E X (0| MTHH) 21,900 36,800 14,900
O1nE=2 s X 27,375,000& *80% 21,900
= 21,900
LH=0 =AFEX} RIS (HEAIY) 23,810 30,000 A6,190
& 20,000
Al 3,810
206 =8| 23,810 30,000 6,190
& 20,000
Al 3,810
01 THEHI 23,810 30,000 A6,190
Ol =MSX Y=
23,810,000& x 14! 23,810
= 20,000
Al 3,810
LH=0 UAIE A2 R22H| K& 8,000 10,000 A2,000
= 2,400
Al 5,600
307 21Z2t0| ™ 8,000 10,000 A2,000
& 2,400
Al 5,600
02 QIZPBAMAIRE X 8,000 10,000 A2,000
OAMEZHl XI& 8,000,000 & x 1A 8,000
& 2,400
Al 5,600
20 jgers 27,000 27,000 0
= 8,100
Al 18,900
307 21z2to| ™ 27,000 0 27,000
= 8,100
Al 18,900
05 QIZtR|EZ 27,000 0 27,000
OU20 = 27,000,000& x 1A 27,000
& 8,100
Al 18,900
SO AAANEE =Y 200,000 200,000 0
c 60,000
Al 140,000
308 AXIHHMSOIA 30,000 20,000 10,000
= 9,000
Al 21,000
13 2| 2SS EAERAEAISHI 30,000 20,000 10,000
O&XIZA 30,000,000 1A 30,000
& 9,000




a3 FghBHL= SA 0 o ekg=atmt
3 ofe=aF Y 25
Rl =& 2 EER=E)
Al = £ o|(5 = dET =
A2 2A - B O9(3) - HIRAY - BES Ol &t S B2
Al 21,000
401 AlZBIL S CHY] 170,000 180,000 10,000
& 51,000
Al 119,000
01 Al£ZHI 168,800 180,000 A 11,200
O20 AMAalsttd x4
168,800,000 14 168,800
< 50,640
Al 118,160
03 A& S CHYI 1,200 0 1,200
O201 Malstetd =4
1,200,000 14! 1,200
< 360
Al 840
HiCtE T (HEAIY) 178,650 168,000 10,650
[ 150,060
Al 28,590
308 AHXIEMSOIH 178,650 0 178,650
< 150,060
Al 28,590
18 SIS A AIE 178,650 0 178,650
Otttz =4 178,650,000 14! 178,650
< 150,060
Al 28,590
EJtAt2l =04 35,000 43,670 18,670
[ 10,500
Al 24,500
307 2Ito1d 35,000 0 35,000
< 10,500
Al 24,500
05 BIZtRAE S 35,000 0 35,000
OEItAtel ==0H 35,000,000 14 35,000
< 10,500
Al 24,500
SAPHS(F 2i0l) gt NAEY ZE(2OHETERY) 400,000 0 400,000
< 120,000
Al 280,000
403 AXIEHSA=Z01H 400,000 0 400,000
[ 120,000
Al 280,000
02 SI12S0ItH etk == 2 EF A I 400,000 0 400,000
O=AtME(F eiil) MStHAE =4
400,000,000 %100 &~ 400,000




A= SN L= 2A ¢ o4
A SUsaBE U
Rl =& 2 EER=E)
AT SA - FE . B(BH) - HEAY - B ofl vy aET HD=2
a=-FM-3%-8 o 8= = ofl &b s2
= 120,000
Al 280,000
AR S 18,000 21,600 A3,600
202 04| 6,000 6,600 A600
01 =ZLHM Y| 6,000 6,600 AB00
OFMTAZY =7
20,000 *3Z*1003] 6,000
206 M=H| 12,000 15,000 A3,000
01 =8I 12,000 15,000 A3,000
Ou=H HsA =4
12,000,000& =14 12,000
LAEX} LSS (HEAIY) 250,000 250,000 0
& 210,000
Al 40,000
206 =8| 250,000 250,000 0
& 210,000
Al 40,000
01 THZHI 250,000 250,000 0
Ox=(SXR Y= 250,000,000& *1Ad 250,000
c 210,000
Al 40,000
HE HE 125,000 125,000 0
= 62,500
c 18,750
Al 43,750
403 XIS IS AH=0|™ 125,000 125,000 0
= 62,500
& 18,750
Al 43,750
02 B 12S0UstAIE2E K E A 125,000 125,000 0
OE 24 125,000,000 & *1JH A 125,000
= 62,500
& 18,750
Al 43,750
YAl S+ g A& 21,000 20,580 420
c 6,300
Al 14,700
307 2I1Z2H0| & 21,000 20,580 420
= 6,300
Al 14,700
02 QIZFEBAMAIHE X 21,000 20,580 420
o240l sX K& XIS
30,000,000& *70% 21,000




A= F3t2roid= A 0 o4t
S oY AtF S Aot
Rl =& 2 EER=E)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e
& 6,300
Al 14,700
72 ExF Hsl= 70,000 500,000 A430,000
& 21,000
Al 49,000
401 AIEHIZ 28I 70,000 500,000 A430,000
= 21,000
Al 49,000
01 AlEHI 70,000 500,000 A430,000
OR8 s U=
70,000,000 10K 2~ 70,000
T 21,000
Al 49,000
IERHES 36,260 25,574 10,686
= 18,130
T 5,180
Al 12,950
402 QI2EXH=01 N 36,260 25,574 10,686
= 18,130
= 5,180
Al 12,950
02 QIZEXHE AL 2 X (01 & THE ) 36,260 25,574 10,686
OIERHEEZS 51,800,000 *70% 36,260
= 18,130
& 5,180
Al 12,950
EFUHHXES(JIEEE) 166,720 25,500 141,220
= 125,000
& 12,500
Al 29,220
403 MRS HSAHE01A 166,720 25,500 141,220
= 125,000
& 12,500
Al 29,220
02 I 2S0HEA=2E S AL I 166,720 25,500 141,220
OzIEZ0UA 22 208,400, 000& *80% 166,720
= 125,000
& 12,500
Al 29,220
ot 2AlE XA 262,960 320,000 257,040
& 78,880
Al 184,080
402 QI2ERHE01 & 262,960 320,000 A57,040




=ot2tZol 2= SN ol k=4kt
SN E LT
OEAE 2 EER=E)
2A - BB O (30) - NIRARY - BYS A e
= 78,880
Al 184,080
02 QIZIAHEAIE B A (OIMTHE) 262,960 320,000 A57,040
Oo™H AAE X 328,700,000 *80% 262,960
& 78,880
Al 184,080
& SSFAAEI] = 300,000 300,000 0
T 90,000
Al 210,000
308 AXISHMSOIH 30,000 20,000 10,000
= 9,000
Al 21,000
13 SISO CHSHE AR feahall 30,000 20,000 10,000
(OESPNEYN; 30,000,000 14! 30,000
== 9,000
Al 21,000
401 A2 HIZL 201 270,000 230,000 40,000
& 81,000
Al 189,000
01 Al&HI 268,500 230,000 38,500
Odllat St &
268,500,000 * 14 268,500
= 80,550
Al 187,950
03 Al&2CHYI 1,500 0 1,500
Odllat SstAAISHX
1,500,000 * 14! 1,500
& 450
Al 1,050
ZIStE =42 BHEAIZ 29,595 8,268 21,327
= 29,595
201 Let2AY| 494 138 356
= 494
01 A2l 494 138 356
OB 42 IR REH X
494,000 14! 494
= 494
307 QIZtoI™ 29,101 8,130 20,971
= 29,101
02 QIZHEAAHE R 29,101 8,130 20,971
OrlEH 242 H SN
29,101,000& 14! 29,101
= 29,101
TAEE2 2N 200,000 200,000 0




A= F3t2roid= A 0 o4t
S oY AtF S Aot
Rl =& 2 EER=E)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e
401 AIEHIZL 28I 200,000 200,000
01 Al&Hl 200,000 200,000
Oxals=2 Al 200,000,000 * 100 2~ 200,000
HiCt= Z&AIS At=2t2] 200,000 200,000
308 AXIHMSOIH 200,000 200,000
13 BI 12 SOICHEH B A X LEALH] 200,000 200,000
OAH Xl A= 2tel 200,000,000 14! 200,000
HEFR AlY LA 24 600,000 800,000 A200,000
402 BIZHR=0l A 600,000 800,000 A200,000
01 QIZEXHE2 AR 2 2 (KM THE ) 600,000 800,000 A200,000
OMER Ae G 2o
666, 666, 6663 *90% 600,000
=2 IIE - RE 4 801,679 2,209,000 21,407,321
= 21,900
T 172,427
Al 607,352
GHAY FHET SEEHE S200E 70,008 64,000 6,008
& 21,000
Al 49,008
307 QI2Hol A 70,008 64,000 6,008
& 21,000
Al 49,008
02 QIRHHAAIHE X 70,008 64,000 6,008
OZH&Y Z2AES SSHEHE EZ0BHE
87,510,000& *80% 70,008
& 21,000
Al 49,008
HEHAY ZHER I X 76,191 84,000 A7,809
& 22,857
Al 53,334
402 QI2ERH=0IN 76,191 84,000 A7,809
& 22,857
Al 53,334
02 QIZEXHE AL B X (01 & THEA) 76,191 84,000 A7,809
OZEag Z2AES I K&
108, 843,000& *70% 76,191
= 22,857
Al 53,34
S HHE H=2=AIE Edl 20,000 20,000
402 QI2ERHE01 A 20,000 20,000
01 QI2EXHEAFE B 2 (KR THE ) 20,000 20,000
O&g (Y& dl+=3z=3AE Jul
22,222 0002 *90% 20,000




A= SN L= 2A ¢ o4
A fysaBHE U
Cel: A2 IS - RS |4 EER=E)
AT SA - FE . B(BH) - HEAY - B ofl vy aET HD=2
a=-FM-3%-8 o 8= = ofl &b s2
SNBSS HAE 29 XJ 170,000 150,000 20,000
307 21Z2t0| ™ 170,000 150,000 20,000
02 QIZPBAMAIIE X 170,000 150,000 20,000
ORAY 29 AN
212,500,000 *80% 170,000
M2 AEEW ME K& 30,000 20,000 10,000
206 =8| 30,000 20,000 10,000
01 &4l 30,000 20,000 10,000
Oathe ATEN HE X2
30,000,000 & = 1A 30,000
SAAE IS4 XIJ 43,800 138,000 A94,200
= 21,900
c 6,570
Al 15,330
402 SIZHXHE01 M 43,800 138,000 A4, 200
= 21,900
& 6,570
Al 15,330
02 QIZIXIEAISIE X (01 & THH) 43,800 138,000 A4, 200
O%AAIE JZ8H| X2
73,000, 000& *60% 43,800
= 21,900
& 6,570
Al 15,330
AMQATEIS B2 S +42 AHEN BRI 70,000 0 70,000
A&
= 21,000
Al 49,000
307 21z2to| ™ 70,000 0 70,000
& 21,000
Al 49,000
02 QIZFBAMAIIE X 70,000 0 70,000
O%bh2 AHISA BRYR K
70,000,000 & = 1A 70,000
& 21,000
Al 49,000
=288 SHIHISIAIE o223 A4 i 135,000 0 135,000
= 45,000
Al 90,000
402 SI2tXHE0| & 135,000 0 135,000
& 45,000
Al 90,000
02 CIZFHEAIS E X (0| THH) 135,000 0 135,000




A= 2st2rdof = FA oAt
I oAt AEt
Cel: A2 IS - RS |4 EER=E)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T < B Ofl r =e
O==2dg LIHgdE di=32AI4 &
150, 000, 000& *90% 135,000
T 45,000
Al 90,000
LI &7 S &2 JIFXIA ==0iHl & 180,000 0 180,000
XA
= 54,000
Al 126,000
307 212t01 & 180,000 0 180,000
& 54,000
Al 126,000
02 CIZHALAIHE XL 180,000 0 180,000
O=4&t2 JIF XA ==0id] =X
200, 000,000 *90% 180,000
s 54,000
Al 126,000
=S N Y EEAE XIE 6,680 0 6,680
= 2,000
Al 4,680
402 Q12201 & 6,680 0 6,680
& 2,000
Al 4,680
02 QIR AL B X (01 & THEA) 6,680 0 6,680
OXNE AT ERAL N
8,350,000 *80% 6,680
& 2,000
Al 4,680
EaPNFEk= gkl 2,959,049 3,931,304 A972,255
= 308, 116
T 751,861
Al 1,899,072
L= Me0| XX 94,500 148,190 A53,690
= 28,350
Al 66,150
402 QIZERHE01 & 94,500 148,190 A53,690
= 28,350
Al 66,150
02 QIR AL 2 X (01 &THE) 94,500 148,190 253,690
OL= 20| Xl K&
135,000, 000& *70% 94,500
= 28,350
Al 66,150
=20 Hs8 2= N 46,914 55,440 28,526
= 14,074




2= o= A o eka=abit
B A2 s
=2l olghEgdst (SH9 H2)
4224 - B B9IEH) - AIRAY - B of v G o HIDE2
Al 32,840
402 2IZtA=01d 46,914 55,440 A\B,526
=S 14,074
Al 32,840
02 RIINEASEZ(0IETHR) 46,914 55,440 A8,526
O=0 ds&8 3= N
46,914,000 x14] 46,914
< 14,074
Al 32,840
S0 & 12,400 11,640 760
201 Let=23 | 4,000 5,000 A1,000
01 AtR2te|Hl 4,000 5,000 1,000
OSHNY o5 =258 MR
100,000 *402] 4,000
202 04| 5,400 3,640 1,760
01 201 5,400 3.640 1,760
OgHolYy g =7
20,0003 *x38*902] 5,400
308 XXM SOIH 3,000 3,000
14 JIEIR83 3,000 3,000
OsHY o2l BE2 #22
3,000,000 %14 3,000
FHBE el X 16,000 32,000 /16,000
307 @120l & 16,000 32,000 16,000
04 QIZHHAMAIH 2 £ 16,000 0 16,000
Ox=aHFE0! Hal A FIHAIA
20,000,000 »80% 16,000
AENHE Q12| EXI(HEAY) 100,000 100,000 0
= 86,000
Al 14,000
401 AlZHIZ SO 100,000 100,000 0
= 86,000
Al 14,000
01 AlZH| 100,000 100,000 0
OA80d 1| X A&
100,000, 0003 * 14! 100,000
s 86,000
Al 14,000
HZetd etof &l XI& 123,900 129,360 ADb,460
== 37,170
Al 86,730
402 QI>F X201 & 123,900 129,360 25,460
= 37,170
Al 86,730




A= st Y= A oHkaARD
M YA P T 25
SRl MR EL S (SH9 H2)
A 2A - B . HA(SH) - HIRAIY - BES (1;| Palgely %E% Hlwsz
02 QIR AL B X (01 & THEA) 123,900 129,360 A5,460
Oz ot Solf&Hl X
177,000,000 ¥70% 123,900
& 37,170
Al 86,730
AL GIZAIAE 115 12,000 9,000 3,000
= 6,000
& 6,000
402 QIZ2+Xt=01H 12,000 9,000 3,000
= 6,000
T 6,000
02 QIR AL B (01 & THEA) 12,000 9,000 3,000
OUEAILD HEZAIAE A5
20,000,000 x60% 12,000
= 6,000
[ 6,000
He& THH2 4 28z RIR 299,894 258,000 41,84
& 89,968
Al 209,926
307 QIZt01 A 299,894 258,000 41,84
[ 89,968
Al 209,926
02 QIZIAMAIH E X 299,894 258,000 41,894
ONEE THoll2a 282 X
29,894,000 *100% 299,894
& 89,968
Al 209,926
e Mol2a 282 K& 168,664 120,000 48,664
T 50,599
Al 118,065
307 2I2+01™ 168,664 120,000 48,664
[ 50,599
Al 118,065
02 QIZIAMAIH E X 168,664 120,000 48,664
O0H THoll24a B8E X
168,664,000 *100% 168,664
& 50,599
Al 118,065
0gs HAs ERAH 676,386 1,339,300 AB62,914
T 202,916
Al 473,470
307 2Iz2+0l™ 676,386 1,339,300 AB6B2,914
= 202,916
Al 473,470




A= SN L= 2A ¢ o4
A fUsaBE Y
Sl PR st (SH9 H2)
AT SA - FE . B(BH) - HEAY - B ofl vy aET HD=2
a=-FM-3%-8 o 8= = ofl &b s2
02 QIZFBAMAIE X 676,386 1,339,300 662,914
O E SMs d2XH
676,386,000 *100% 676,386
& 202,916
Al 473,470
08 QFM AFD(ZERO)SH AlE HH| 126,700 149,260 N22,560
201 LE2AH| 5,620 8,000 N2,380
01 Al 22IH| 5,620 8,000 172,380
OBET MAHOLAIL X2
5,620,000 & * 1A 5,620
401 A& HILE0HY] 121,080 141,260 N20,180
01 Al&HI 120,000 140,000 20,000
Ot otMALD MZ23F A& &Y
120,000,000 * 14! 120,000
03 Al 20HYI 1,080 1,260 A 180
Ot oM AID MZ23H Al &
120,000, 0002 0. %% 1,080
HEMgo MAZE XA 6,300 4,410 1,890
= 1,800
Al 4,500
307 21Z2t0| ™ 6,300 4,410 1,890
& 1,800
Al 4,500
02 QIZHBAMAIRE X 6,300 4,410 1,890
O8Nyl &HEE XA
9,000, 000& *70% 6,300
= 1,800
Al 4,500
HAZOH MHEIIHA &BIXI& 7,000 21,140 A 14,140
= 2,100
Al 4,900
402 SI2tXHE0| & 7,000 21,140 A 14,140
& 2,100
Al 4,900
02 QIZEXIEAMAE X (0|E W 7,000 21,140 A 14,140
Ozl IHEII& &bl X
10,000,000 *70% 7,000
& 2,100
Al 4,900
A2 OIXEA 35,803 38,704 A2,901
o= 10,741
Al 25,062
307 21Zto| ™ 35,803 38,704 A2,901
& 10,741




AR 2sBBHY SN YA
A fUsaBE Y
Celr SRS (CH9: &S1)
AT SA - FE . B(BH) - HEAY - B ofl vy aET HD=2
d=-FA-d&-8 o 8= = ofl &b s2
Al 25,062
02 OIZHEAAIH B X 35,803 38,704 A2,901
OS2 0IXE2H 35,803,000 *100% 35,803
c 10,741
Al 25,062
AIZOIHNER NECHAH XA 60,000 40,000 20,000
= 18,000
Al 42,000
307 21Z2t0| ™ 60,000 40,000 20,000
& 18,000
Al 42,000
02 QI AMAIIE X 60,000 40,000 20,000
OA=01d) gt XA
60,000,000 *100% 60,000
= 18,000
Al 42,000
o I L2 ERH| XA 11,500 11,500 0
= 3,450
Al 8,050
307 21Z2t0| ™ 11,500 11,500 0
& 3,450
Al 8,050
02 QIZHBMAIRE X 11,500 11,500 0
OdllF oINS R EH] K&
23,000, 000& *50% 11,500
= 3,450
Al 8,050
a8 “5J|2 4| 814X UMK 82,140 75,600 6,540
= 41,070
= 41,070
402 SI2tXHE0| & 82,140 75,600 6,540
= 41,070
< 41,070
02 QIZHEAIL E X (0| HTHH) 82,140 75,600 6,540
O EE HUXIZEZEY 23
136,900, 0002 *60% 82,140
= 41,070
& 41,070
M MEX L SFEX 23K 38,480 31,760 6,720
= 7,6%
Al 30,784
201 LEt2AH| 38,480 31,760 6,720
& 7,696
Al 30,784




A= SN L= 2A ¢ o4
A fUsaBE Y
Sl PR st (SH9 H2)
AT SA - FE . B(BH) - HEAY - B ofl vy aET HD=2
a=-FM-3%-8 o 8= = ofl &b s2
01 AfR22IH| 38,480 31,760 6,720
O+ H2X H2T
38,480,000 x 14! 33,480
& 7,696
Al 30,784
20 HS50d HAEAD(Y2D]) X 11,340 15,000 N3,660
= 3,402
Al 7,938
402 SIZEXHE01 A& 11,340 15,000 A3,660
< 3,402
Al 7,938
02 CIZFEAIL E X (0| HTHH) 11,340 15,000 N3,660
O20{¢is WD (H2DI )X
16,200, 000& *70% 11,340
& 3,402
Al 7,938
SHAIHSE 2435 XA 14,000 21,000 A7,000
402 QIR0 14,000 21,000 A7,000
01 QIZHIEAIE X (KHMITHS) 14,000 21,000 A7,000
ORAINA &43t XI&
20,000,000 *7% 14,000
A2 MMHEIIHA =2l A& 22,436 28,000 N5, 564
= 6,731
Al 15,705
402 SI2tXHE0| & 22,436 28,000 N5,564
& 6,731
Al 15,705
02 QIZHEAIE 2 X (0| HTHH) 22,436 28,000 N5, 564
O¢Zol MHEIIHA =clX&A
32,051,000& *x70% 22,436
= 6,731
Al 15,705
F28E H2=HAR SXg2 HE 600,000 50,000 550,000
= 200,000
= 60,000
Al 340,000
401 AIEHI X204 600,000 50,000 550,000
= 200,000
& 60,000
Al 340,000
01 Al&H| 577,000 50,000 527,000
OF28 & Mi22l=202 HEJd sX32 HE
1,000, 000, 0002 *40% 400,000
= 200,000




A= EstEde= SA oAt
A GBS 25
Sl PR st (SH9 H2)
A= 2A - 3. SR(3) - MIRAY - BES Off &K %E% HusZ
(= €0,000
Al 140,000
O=28g M22i=el He@ =Xal2 A8(
AlHIZ=Dt) 1,000,000,000& %17. 7% 177,000
02 Zcldl 20,000 0 20,000
O=28 & M22/=0! &3 SXial2t A48(
AIHIZ=D) 1,000,000, 0002 *2% 20,000
03 AIZ S 0HYI 3,000 0 3,000
OF28E M22=20 0@ =Xg2 A2
AlHIZ=Dt) 1,000,000,000&+0. 3% 3,000
ool 8 &It 2elol X 45,000 45,000 0
307 el2+old 45,000 45,000 0
02 QIS EX 45,000 0 45,000
Oojgdel 282 A 2elol X
75,000,000 *60% 45,000
ool otMEE X 1,000 0 1,000
[ 300
Al 700
307 212t01 & 1,000 0 1,000
= 300
Al 700
02 QI HAANEE X 1,000 0 1,000
Oofjgiel oM s X
1,000,000 *100% 1,000
= 300
Al 700
ZEAl o220 &Yl K& 14,000 14,000
402 SI2EXH=201 S 14,000 14,000
01 QA2 AIS 2R (RAMITHR) 14,000 14,000
Odit = ZHIKIA 17,500,000 +80% 14,000
Ao ==I12 Al K& 210,600 0 210,600
== 63,180
Al 147,420
402 SIZERHE0| M 210,600 0 210,600
= 63,180
Al 147,420
02 QI AH2AIS 2R (0IETHE) 210,600 0 210,600
O d =202 M XI&
351,000,000 *60% 210,600
S 63,180
Al 147,420
HREZSH sl=22l K& 122,092 0 122,092
= 61,046
S 18,314




A= SN L= 2A ¢ o4
A fUsaBE Y
Sl PR st (SH9 H2)
AT SA - FE . B(BH) - HEAY - B ofl vy aET HD=2
a=-FM-3%-8 o 8= = ofl &b s2
Al 42,732
307 S1ZH0| & 122,092 0 122,092
2 61,046
& 18,314
Al 42,732
05 OIZt2|EZ 122,092 0 122,092
QHONWF 3= 52 K&
2,000&*61,046H 122,092
= 61,046
& 18,314
Al 42,732
oHY&ZD | B = 6,917,317 8,649,982 N1,732,665
ra 3,737,383
& 515,821
Al 2,664,113
UAES A& 22 19,000 21,000 A2,000
201 LBr2Ab| 19,000 21,000 A2,000
01 AFR22t2ldl 19,000 21,000 A2,000
OLES IE MIIAIE orM2te|H]
5,000,000 & * 1A 5,000
OLEE QU SHEZH FX 22|
14,000,000& =14 14,000
012 242 S EO A HYIXIS 3,000 3,000 0
302 O|F=L ol 2 a2 3,000 3,000
02 QI ERESsSEAZ 3,000 3,000
QoI =3 s X AU XS
200,000 *153] 3,000
ANESt 2 EX| SXl22] 13,000 13,000
201 LEr2AH| 13,000 13,000
01 AtR2t2lb| 13,000 13,000
OAMES2E X X2
13,000,000& *1A] 13,000
HEHE =9 Hi| 70,000 70,000
401 A& H| L E0HY] 70,000 70,000
01 Al&HI 70,000 70,000
ONE HAAIL E4= 70,000,000 x 1A 70,000
HEHE HEAIS 453,200 500,000 A46,800
202 04| 3,200 0 3,200
01 =ZLHM Y| 3,200 0 3,200
OHENE =X
20,0002 x2H *803| 3,200
401 AlEH|IZL L 0HH] 450,000 500,000 250,000
01 Al&HI 450,000 500,000 250,000




St = SN ofek=akut
sHorar2IBRt 2
oI [E= EER=E)
SA - ZE . B9(0) - ARAY - BAS of v G o HIDE2
O0lgAIEE 2 - 22
450,000,000 » 14 450,000
EFY ofigals Z2xd 80,000 100,000 /20,000
401 AIEHIX R0 80,000 100,000 /20,000
01 A28l 80,000 100,000 /20,000
ONEFH oigal+ S2txd
80,000,000& *14! 80,000
EMEFL0IES MRE WS 30,912 24,127 6,785
< 9,274
Al 21,638
307 glztol & 30,912 24,127 6.785
= 9,274
Al 21,638
02 2IZHBYAIHE A 30,912 24,127 6,785
O42 HEMERZ0E ARY 22|
2,060,740« 1 =104 A+ 1000 2 20,608
=S 6,183
Al 14,425
Od= HEMEF 20 MRE 12|
2,060, 7402 *1H 14 2+5I1 2 10,304
= 3,001
Al 7,213
F28g etorate| IR 55,000 55,000 0
201 fer23y| 55,000 55,000
01 AtR2t2lHI 55,000 55,000
O=&dg gotae| &
55,000,000 * 14! 55,000
SETFANE R 2cl 15,000 21,000 26,000
201 2= 3,000 6,000 23,000
01 AtR2t2lt] 3,000 6,000 23,000
OYEZAE R SIS
3,000,000 14| 3,000
401 AlEHIZ 201 12,000 15,000 23,000
01 Al&H| 12,000 15,000 A3,000
OZEZAIE X 12,000,000 * 14 12,000
offzt JIBtR=x 3,600 6,000 A2,400
202 04| 3,600 6,000 A2,400
01 2K 3,600 6,000 22,400
Ooffef2t& J|gt
20,0003 *x2& »902] 3,600
of el 2 st 80,000 180,000 100,000
308 XXM SO0IH 30,000 30,000 0
18 SIS0t & AAS A 30,000 30,000 0
Odls3&d At=2d 30,000,000 *14] 30,000




A= 2st2rdof = FA oAt
I oAt AEt
ol oferaEoletR= EER=E)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e
401 AIEHIZL 2 OHY| 50,000 100,000 /50,000
01 AlIEHI 50,000 100,000 /50,000
OdidelldAIE =S sXl2tel
50,000,000& x14! 50,000
HERY 300(8XE) 4,140,500 3,042,000 1,098,500
s 2,898,350
= 372,145
Al 870,005
403 TS =01 4,140,500 3,042,000 1,008,500
s 2,898,350
< 372,145
Al 870,005
02 2712S0 e H=H 2 E AL 4,140,500 3,042,000 1,098,500
Ogag 0EE300AHH
4,140,500,0002 <14 4,140,500
Fas 2,898,350
= 372,145
Al 870,005
Hgxls 2208 24 X 40,000 0 40,000
== 20,000
Al 20,000
307 212t01 & 40,000 0 40,000
= 20,000
Al 20,000
02 QIRHEAAIHE £ 40,000 0 40,000
Odflgxl=w 228 224
40,000,000 14 40,000
= 20,000
Al 20,000
oft==&tF Z2ALY CHHI GlIEIH= =& 60,000 150,000 290,000
201 L2 5,200 0 5,200
01 AFR-2t2ltl 5,200 0 5,200
Odfl=42 22 FHl 228 2
5,200,000 14! 5,200
202 04l 4,800 4,800
01 =LHOALI 4,800 4,800
O =42 22 FH| 04|
20,0003 x2H+120=2] 4,800
207 AN 50,000 50,000
01 A= 50,000 50,000
Odfff=4t2 S2AIS THEI OiEIHE =&
50,000,000 x14! 50,000
St OFMALD Off Y 200,486 178,855 21,631
S 14,026




a3 FghBHL= SA 0 o ekg=atmt
3 ofe=aF Y 25
Rl ofraED|g A= EER=E)
Al = £ o|(5 = dET =
A2 2A - B O9(3) - HIRAY - BES Ol &t S B2
Al 186,460
101 QI2AH| 196,486 172,855 23,631
< 14,026
Al 182,460
M IRHZZ2XNEES 196,486 172,855 23,631
O3 otMzte| SHY B
46,755,000& *100% 46,755
[ 14,026
Al 32,729
OfE7 orMze] SHEY 2==(AlIHIFI) 149,731
=JllEgg 88,8002 9 124 99,101
oFFE 88,8002 0% »26! 20,780
oA Xt 88,8009 11 8,792
S3=k=y=d 175,480, 0002 *12% 21,058
201 er23| 4,000 6,000 ~2,000
01 AtR2t2l] 4,000 6,000 22,000
OZET HMAIDNE ST (AIHIFI
4,000,000 14! 4,000
HELMSHASIIALY (CHRIEIE) 998,619 0 998,619
z 699,033
< 89,876
Al 209,710
307 2I2t01 ™ 555,000 0 555,000
z 383,500
< 49,950
Al 116,550
05 2IZtRAEZ 555,000 0 555,000
ONEASHASIAY WAHZA 2
555,000,000 *14] 555,000
z 383,500
< 49,950
Al 116,550
403 AXIEHMSA=0l1d 443,619 0 443,619
z 310,533
< 39,926
Al 93,160
02 SISOt = A P E A I 443,619 0 443,619
Oereldsl HEMEHSIAY
443,619,000& x14] 443,619
z 310,533
< 39,926
Al 93,160
=It01E Ald2te| & 29 70,000 70,000
201 eer23y| 70,000 70,000




A= SN L= 2A ¢ o4
HE: SfUsaBE U
el o2yt = (Gt H2)
AT SA - FE . B(BH) - HEAY - B ofl vy aET HD=2
a=-FM-3%-8 o 8= = ofl &b s2
01 AFR22t2lHl 40,000 40,000
OS2 HIHLYNAAL 22 22| B
40,000,000 * 14! 40,000
02 S324| 30,000 30,000
O3222 R 30,000,000 & * 1A 30,000
HOLEHIAIE At= 22| 50,000 50,000
401 AlEH|IZL L 0HY] 50,000 50,000
01 Al&HI 50,000 50,000
OHHEH|AIE Al 2t
50,000,000& 1A 50,000
UBLS A EINE AL 200,000 200,000
hay 140,000
Al 60,000
401 AlEHIL L2 01| 200,000 200,000
ra 140,000
Al 60,000
01 Al&H| 200,000 200,000
OF28 dBtsAHSINEALS
200,000,000& *1A 200,000
= 140,000
Al 60,000
A=S HICHE O AIE= &I 30,000 30,000
401 A& HILE0HY] 30,000 30,000
01 Al&HI 30,000 30,000
OA=g BN AIE= &b
30,000,000& 14! 30,000
HSA HIOEMNZE L3 =L &5 200,000 200,000
401 AIEHI L 204 200,000 200,000
01 Al&H| 200,000 200,000
OdSKl BICHREIHZY L3 =IAE &5
200,000,000& =14 200,000
HSXE S& &S5 L HIH 22 70,000 70,000
401 A2 HIYL 204 70,000 70,000
01 Al&H| 70,000 70,000
Odske SHE &5 L YIM 22
70,000,000 & * 1A 70,000
AMNEES HRELE2E X 35,000 35,000
= 10,500
Al 24,500
401 AlEHIZL L 0H] 35,000 35,000
= 10,500
Al 24,500
01 Al&HI 35,000 35,000




A= 2et2Eoid= SA 0 o ekg=atmt
3 ofe=aF Y 25
Rl ofraED|g A= EER=E)
A 2N B G(B) - NRAY - BES 0 &y A HIRS
OAEAE HRE=E2E &1
35,000,000 x14] 35,000
< 10,500
Al 24,500
HRBEE 5,186,240 2,425,830 2,760,410
= 207,000
z 2,630,000
< 612,100
Al 1,737,140
off et 2l 5,186,240 2,425,830 2,760,410
= 207,000
= 2,630,000
< 612,100
Al 1,737,140
SHsHae 54,000 94,000 40,000
201 LBl 20,000 10,000 10,000
01 At22t2l] 20,000 10,000 10,000
O87=H 2| & L8
20,000,000 14! 20,000
307 2Ito1d 30,000 50,000 £20,000
05 21t =S 30,000 50,000 20,000
O3 SYAIES &= & 22
30,000,000 * 14 30,000
401 AlEHIYL S THYI 4,000 4,000
01 Al&HI 4,000 4,000
OZs=H SYHAIZE Heal
4,000,000 *14] 4,000
a2 R =4 8 SEIAY 34,000 50,000 16,000
201 er23 | 24,000 30,000 26,000
01 At2teltl 24,000 30,000 26,000
Ogx+ =4 & &L ISR
500,000 +6CH+8L! 24,000
401 AlEHIYL S THYI 10,000 20,000 10,000
01 Al&HI 10,000 20,000 10,000
Ogxx &4 & 24l
10,000,000 *14] 10,000
TS LMY D] 00 (HEAIY) 120,000 120,000 0
[ 60,000
Al 60,000
307 2Ito1d 120,000 120,000 0
< 60,000
Al 60,000
05 212t S 120,000 120,000 0




A= F3t2roid= A 0 o4t
M Y EEE
&l okt 2t (EEEE))
AR .. HEH. CI-_‘,’_|(§D1|) - HIEAIY - HE2 0| AFOH SEE Hn=2
STrTATSRtE T == B Ofl &k o se
OXgs Mgl =04
120,000,000 14! 120,000
& 60,000
Al 60,000
EAMHSHE =& 240,000 290,000 50,000
= 72,000
Al 168,000
201 23| 60,000 100,000 240,000
= 18,000
Al 42,000
01 ArR222lt| 60,000 100,000 240,000
O=4 ZHlgxt 60,000,000 14! 60,000
& 18,000
Al 42,000
401 AIEHIZ 2018 180,000 190,000 A 10,000
& 54,000
Al 126,000
01 AlEHI 180,000 190,000 210,000
OEAIENE =4 180,000,000& * 14! 180,000
= 54,000
Al 126,000
oot & et Hat 334,240 334,048 192
101 eI t| 114,240 114,048 192
M IIZtH22 S8 114,240 114,048 192
Oolfetdt & &7 HALY eldd|
95,2002 *10E 10+ 1204 114,240
201 Ler2 | 100,000 100,000
01 At 22|l 100,000 100,000
OMdDl =H Xl EHl g4xt L 225 2
2 100,000,000& * 14! 100,000
307 QI2H0| M 120,000 120,000
05 QI”tPIEZ 120,000 120,000
O== - ofietdr & SZ7 Mefd] =AES
120,000,000 14! 120,000
OHOtE A - OE IO S =5+ 30,000 50,000 220,000
401 AIEHIZ 2018 30,000 50,000 220,000
01 AlEHI 30,000 50,000 220,000
OdfietE Al - MEtIlol S 2=+
30,000,000 14 30,000
oM Dl E3tAr 150,000 150,000 0
s 75,000
& 37,500
Al 37,500
101 @I24H| 50,000 50,000 0




A= 2et2Eoid= SA 0 o ekg=atmt
M oHARIEE
el ofrErg el EER=E)
AR A O () - HEAIY - BAS2 Of| AkoH dEs HD=2
SmoETAreER e T == B Ofl &k ==
s 25,000
< 12,500
Al 12,500
M ORNZZ2NSE s 50,000 50,000 0
OolMelD] Hat el
2,500,000& 207 2= 50,000
= 25,000
< 12,500
Al 12,500
201 LEH2 | 100,000 100,000 0
= 50,000
< 25,000
Al 25,000
01 AtR2t2l] 100,000 100,000 0
OdfiMe D] Fat ZHIYR L A2F 7
100,000,000 14! 100,000
z 50,000
< 25,000
Al 25,000
A=+ AOHYHIALY 3,398,570 591,428 2,807,142
z 2,379,000
< 305,870
Al 713,700
401 AlEHIYL S THYI 3,398,570 591,428 2,807,142
z 2,379,000
< 305,870
Al 713,700
01 AlZHI 2,890,000 591,428 2,298,572
Od=X7 AHHHIAY
2,890,000,000& * 14 2,890,000
z 2,023,000
< 260, 100
Al 606,900
02 Zeld| 500,000 0 500,000
O =X+ HHEHIAY
500,000,000 *14] 500,000
z 350,000
< 45,000
Al 105,000
03 Al R0HHI 8,570 0 8,570
Og=X7 HHEHIAY
8,570,000 14 8,570
z 6,000
= 770




a3 FghBHL= A o eka=abit
M oHARIEE
el ofrErg el EER=E)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH SEE Hnz=2
SmoETAreER e T == B Ofl &k ==
| Al 1,800
= 0IOHAIGH OFALY 251,430 0 251,430
= 176,000
< 22,630
Al 52,800
401 AlEHIYL S THYI 251,430 0 251,430
Fs 176,000
< 22,630
Al 52,800
01 Al&H| 251,430 0 251,430
O=CIHABHOIAIY JIZ2HEEH
251,430,000 x 14 251,430
Fs 176,000
< 22,630
Al 52,800
ofMe | doty 24 140,000 90,000 50,000
< 42,000
Al 98,000
307 @120l & 140,000 90,000 50,000
< 42,000
Al 98,000
05 2IR”tRIE = 140,000 90,000 50,000
OofiMeD| Hotd 24
20,000,000& #7902 140,000
[ 42,000
Al 98,000
Fefollor HOIE US 414,000 0 414,000
= 207,000
[ 62,100
Al 144,900
101 @124H| 411,264 0 411,264
= 205,632
[ 61,690
Al 143,942
M ORINZZ2NSE S 411,264 0 411,264
OFefoliet HOIE S 2]
17,136,000& x24 411,264
= 205,632
& 61,690
Al 143,942
201 er23 | 2,736 0 2,736
= 1,368
< 410
Al 958




AR 2HPHYR
Hu: YR E
ool ofE e

AR R4 - B SAE) - HRAY - BES il v A DS
01 AFS2t2ltl 2,736 0 2,736
OFrolier HIIZ2 (e 234
114,0002+24H 2,736
= 1,368
L= 410
Al 958
ook ot s X 20,000 0 20,000
T 10,000
Al 10,000
307 212t01 & 20,000 0 20,000
s 10,000
Al 10,000
02 QIRHEAAIHE £ 20,000 0 20,000
Ogier Zst s K&
20,000,000& *14! 20,000
L= 10,000
Al 10,000
A2 A (GH24=4tt) 31,000 29,750 1,250
=3l 31,000 29,750 1,250
JlE2&l 31,000 29,750 1,250
201 2et23 ] 17,200 17,200 0
01 ArR2eltl 17,200 17,200 0
OJl=2gR=a sS4
8,000 8 ~10 123 7,680
OAIRESZ 2| 2,600,000 14! 2,600
OARID| A28 F¢
6,920,000 14! 6,920
202 (4t 10,200 7,650 2,550
01 =LHOALI 10,200 7,650 2,550
OJl=zgR=a o
120,000 *17H+52 10,200
203 BR=EH| 3,600 3,600
04 RA2LHRFLH 3,600 3,600
ORMZggR=a 300,000+ 122 3,600




